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Reason and Assertion type :

Assertion [A] : C.N. Annadurai organised small labour unions.
Reason [R] i Labour welfare is related to time and place.

(A) [A] is true but [R] is false
(B)  Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is falge, [R] is true

vd'))/ Both [A] and [R] are true, but, (R] 1s not the correct explanation
of [A]

(E) Answer not known

STrewD LHmILD G}J@S]u_@gggdo i

@Jmﬂugj‘;j'@g,d).[A] e JG.NL éqsﬁ'zrrsbﬁrrgjcmg o QsmPpeistsmear DD DES
qﬁ)gﬁ@ Q&g T,

smrenrd [R) © Gsmfleorert  paer eramig  Gpgd  whmid QL gz e
Qsm_myanLwig.

@) [A] o, wama [R] seugy

B [Alv[R]w &fl; wpmbs [R] eremLigy [A] && silwmer efersaih

©  [A] saupi [R] o

D) [A]l b [R] v & e [R] aatugl [A] s sfwrer efaréais T

(E) oQenr QaMwelldena
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9. Choose the right matches among the following :

(1) Madural Gandhi _  N.M. Subburaman
2) Thatchina Gandhi _  Rajaji - 3
(3) Vidyalaya lyya —  Kamaraj
(4) Father of Tamilnadu Library
Movement — A. Ramasamy
\,@() (1) and (3) are correct | (B) (1) and (2) are correct
(C) (2)and (3) are correct D) (3) and (4) are correct

(%) Answer not known

QerarmeseTappIdT sfwmar Quirmsssms CoTHESH

(1) wgieT &b -~ N.M. s&liyymoer
(2) s Slemm grhS — @il

(3) edgwmeowim ST — ST

(4) sHDHTR HIOS QusssHen sHEEPS  — A. grogTd
A) Hw@o ghl (B) (1) (2) b &fl

C€) (@ w (3) s D) (3) b (4) b &f

(B) ofen Gaflwiaiioma

3 Rao Bahadur Sir AT. Pannirselvam was & ——— leader, who
previously served in the Governor Erskine’s Executive council.

(A) Swarajya Party (B) Congress Party
\M Justice Party (D) Samajwadi Party

(E) Answer not known

pre LSGNT &7 U5 LeanTEFoald . gamaals GGHSTT LG
(@] <2 @HBT arcodlaflan Hitarad & pe® Ueniwmhplent.

(A) FLTRLS S8 ' (B) srEdren S8
(C) gHs 58 (D) swrpaurd &8
(E) efeni QsMwedeane
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In accordance Wfth the recommendation of the 15t Finance Commission,
states will be allowed a fiscal deficit of 4.0% of GSDP of which 0.5% will
be tied to reform the following sector. :

(A) Agriculture reform \j;B( Power sector reform

(C) Industrial sector reform (D) Service sector reform

(E) Answer not known ‘

157 fds Gpelldr  Lfggmrsaieniy, Ll REAE T GSDP-&  4.0%
BElliupomEen CA@iodlEsiufn,  obd  0.5% Hemreud  gavpans
EMEBEBIUBHESE BereThsriLELD. '

(A) @ﬂm&nu_lﬁs gl - B) aflssd s

C) Qsmfé gep ' (D) Geaweu giany

B) e Qsfucidvema

Which of the following statements are true about Temple Entry
Movement? ' ‘ .

(1) The British Government in the Madras Presidency passed an Act
on November 1 of 1817 :

(i) It supported the identical powers of Temple Management
(iii) It was the model of the Bengal Act No. XIX of 1810

(A) (i) and (iii) only \/\‘g) (i) and (i) only -

(C) (@) and (iii) only (D) (iii) only

(E) Answer not known ' '

&g@a;rrso%rummggjeh QOU BIEDLPEYL (Bum;rm'_l'_gg%]mmu UDOL 2 eirenioumer

s.pdlenar gy : »

®  peunur 1, 1817 & Gl gey e Qurgmey GGl ardue R FULSS
BleopCaplug |

1) @& Careld Blireurager oGy wrdflwrer sifesrrismar 2%5M&8 g

(i) @s eumamars s b pour XIX, 1810 & 2 drer wrdflurs Gmsfs.

@G oo () vegs B) @) woppid (i) i gio

(C) @) womw (iii) WU Hib ) D) (i) wrEn

(E) feor Asfuedoma
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6.  Which book guided the Poligar confederacy against British which had a

maxim
“Pretend submission and Procrastinate surrender before the formidable
enemy”? |
(A) Mahabharatam
(B) Ramayanam
\XC) Panchathantram
(D) Silappathikaram

(E) Answer not known
“oraflepowner e Muder (e oy Liamigadler LITETa@D SramrenL Sedien @éHmaiiy’

ererp. LpQmBufaitLig. 2yEHCoWmES aglrTe LITen@TUESTTT Sl L @WDrUSE

QUG g1 BT
(A) wsTUMTSD
(B) @umsmuemid
(C)  ugespEND
(D) Sevindsrmd

(E) oflen QMweldema

CCSE1P/2024 6 oL
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Arrange the following events in the chronological order

(1) Bharatha Matha Society

(2) Madras Mahajana Sabha

(3) Home Rule League

(4) Madras Dravidian Association

@ 3, @ @, O @, 0,06
© ), 3,03, % D) @), (3), 2), (1)
(E) Answer not known : :

Eipsarr_euperp sre auflesiuBsgs :

(1) wumys wreT FhsSD

(2) Qeerenan waTVen FaL

(3) Ganmb eméd Qubsd

(4) wsrrev fHyredl FhisbD

@A) 3, @), @), 1) (B @),Q),4), 3

© (D, @), 6), @ D) @, ), @, 1)
(B) ofer Qafueldame o :

According to Valluvar, what is Venmai (Stupidity)?

\,(A‘( Arrogance that cries, “Behold we claim that glory of wise”
(B) The fools would conceal nakedness |
(C)  Fools think what they know is knowledge serene and pretend
(D) The shallow who are lazy to ].iStel’ll.tO wise counsel
(E) Answer not known . '

Gesarens erarliLfieug Wrbgear euat@peui gnmidlpmi?

&) srb sfiGearal UaLssaiser eraty HaasEn Camsas
(B) e Lbeu gewnd wapliug Cuie GHDESMET DaDESD
C)  ‘san_Cs a1 &, Qaran_CGs Qardrans Gm‘b‘@ px_uu.@

D)  wep prose sapb sfe@row ghendEsss

(E) el Qsflweebenes |

7 CCSE1P/2024
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9. What are the things “Being with Kings, Discerning unspoken thoughts,
_ knowing the audience”, stated in these Chapters by Thiruvalluvar?
(1) About Mihister’s behaviour
| (2) Minister’s advised to Kingv
(3) How a king should treat another King
(4) Related Psychology Ideas

(A) (1) and (3) only
(B) (2) and (4)‘ only
(C) (3 only

VBT (1), () and @) onlly

(E) Answer not known

“Inemamenys @&fr;r_'r;@g,rr@@gsb, GHuublgd, owauflsd’ Hdu Siflstrhsetd
QUET(EREUT 2 GTITHHIGUET UITENGU?

(1) siewssiar pLjms uHHlLZ)

(2) owést waaTgHE HCOTFME 6ULPE &S

(3) ‘waranar Gy weranraGeTT( HLbg Gardrer Gesarriqw (pep LHHILZ

(4) e eaefiwe smsgsser Hlapbss

@A) (1) opgis (3) G
B) () wpgid (4) wrED
C) (3) wi@w

D) (1), (2) ppd (4) LLED
() e QeMuisidrene

CCSE1P/2024 - 8 . o
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10. Makkale Polvar ‘Kayavar’ Avaranna
Oppaari yaanganta thil
— In this verse who is mentioned as Kayavar?

(A) Irresponsible persons
(B) Individual peoples
(C) Aimless peoples

Al] of these
(E) Answer not known

w&&Cer Gurdeur ‘Suieulr euTeETET

euumfl UnriiserL S

— eTenp @&metled ‘Gt erar Wrenys GOLABE enpmiT?
Ay Qurgulderseuisdr

B) AmuubGure BLLILIGUITaeT

(C) Qpflwpm eumpueirasr

D) @ee apermd

() oflen Qzfuedrena

11. According to Valluvar instruction, “The person who follows an ascetic
life’, what should be done to avoid contempt?

\,@Kf Non stealing

(B) Non killing
(C) Non angry
(D) Non desire
(E) Answer not known

(%Jmsﬁ]as@as@ Qepssl agmod QEsE Sieuiadt e @ussh GupOserer
Gmrr@m GTETM GUET(@BEUT samidlpmT 7

(A)  seretmenw

(B) Qsméemenw

(C) Garub Qsrarerranio
D) sesuuLTew

(E) oferi Qsfwefdana
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12. To whom wealth compared to the full water of city tank?
B \}4 Man of eminent knowledge
| (B) Evil friends
(C) Gambling
(D) Baseness
(E) Answer not known

wnmperLw Qedaigams asat@pall b Hlenmbs sarpaf Gur® @uIAGEDTiT? |
(A)  Gurdeumreren

B) &py
©) es
(D) sweur

(E) ol Gsfleiaenc

13.  Who is the author of the Novel “Kaagetha Sangiligal™?
\}A; Sujatha Rangarajan
(B) Vaali
(C) Jayagandan
(D) Pudumaipithan

(E) Answer not known

“Grélss srdldadr aenp Udarsdler pAMwir wmr?
(A)  asmrgn grhisyTRET

(B). aumed)

(C) dguatpsear

D) ugewoOssa

(B) eflenr GQzflwaidana

CCSE1P/2024 10
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14. Match the authors with their magazines ;

Author | ‘Magazine
(a) Jeyakanthan 3l Thendral
(b) Na. Parthasarathy B Annam Vidu Thoothu
(c) Kannadasan 3. Gnanaratham
(d) Meera 4. Deepam

@ ® 0O @
@)

T o I
At e |
(o AN R .

o . R I

(E) Answer not known

- pAfluismer Sieurserg Qsha@ser GUTBESS
L EMw : G zpad

(a) Qgusrigen 1. Qgerme

| (b) ®r urrr'rg,g,#rrrjﬁ .2. Sienend 696 srsl
(¢)  savmansrsdr 3. @HTETTGLD

d) Syr 4. Suw

@ © @

ANy 1 gl g

L(B)r 4 3 2 1

(@) B0 ¢ s 103

00) T 7 S B

(E) efer_ QsfMwedana

9 : 11 ~ CCSE1P/2024
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15. Which work refers to the war at ‘Kazhumalam’?

-~
(A) Kurunthogai "~ \#B) Agananooru
(C) Natrinai (D) Paripadal

(E) Answer not known

‘supab’ et GLss Cunt Bapmea spaig)

(A)  enpstos (B) <ispranm
(C)  podevant (D) ufur_e
(E) &fe Qsfluelcane

16. Malaiyulae pirapinum malaiku
avaitham en selyum
— In which book does these lines occur?

(A) Kurunthogai

(B) Agananooru

M Kalithogai
(D) Natrinal

(E) Answer not known

“wenew]Gar ApLIGenid 1DaesE

Sieaugiid eram Geub”

— eremm LmLed euflaer @L b Qubp mIed 615 ?

(A eopLsTas

(B) <=ispremm 2
(C) sdslgrans
O o

(E) &ler Qsfusidama

CCSE1P/2024 12
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17. Who was the first accused in the Ashe murder case?

(A) Sankara Krishnan
V,QBY Nilakanda Brahmachari

(C) Madasami

(D) Vanchinathan

(E) Answer not known

6y Cerae auwsdld wse Gpoeured wm?
), Griiaiera

B) BesarL Qpbwssnd

(C)  wr_smd

D)  argGAprger

(E) e QsMweldaa

18. Which place was the most important learning center of the Jain
‘Scholars? ;

(C) Tanjore
(D)  Thiruvalangadu

(E) Answer not known

' dereupeuanaupgier soanm 2iflesiasefien WsHL sppd emwwbTs Bmhs GLib eTg) ?

(A)  wger
B) S
(C) g;@&rr@r’r

D) Hoauretsrd
(E) e Qsflweievena

a ] 13 CCSE1P/2024
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19. Match the following Titles of the Kings:

(a) Pandiyar 1. Aadhavan

(b) Cherar 2.  Thithiyan

(c) Chola 3. Chezhiyan

(d) Aai 4. Sembian
(@ Gk © @

A 3 4 2 |

v s 1 4 2

© 3 2 1 4

D) 4 g T A 9

(E) Answer not known

werarisafler LU L Bisamerts GUMmsgs

(a) unemqwi 1. eysear
®) Geyi 2. Hfwer
(c) Gempr 3. Qeflwer
(d) 4., GebQuwer

@ G @© (@
(A) 3 4 2 1
B) 3 1 4 2
© 3 2 1 4
(D) 4 3 1 2
E) oL Osflucidame

14
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20. Tamil Nadu Disaster Recovery Centre (TNDRC) is located at

@A)

Chennai

B Tiruchirapall

(©)

D)

(E)

sBlppri Cuici By ewown (TNDRC) eiewsgsédrer @b

(&)

®)

(©)

D)

()

Coimbatore

Madurai

Answer not known

QFeiTan e
Hm&Symiuered
CamubLggnT
LDglanT

sflenL. GzMeldena

15
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21. Tamil Nadu Government’s ‘Pudhumai Penn’ Scheme ensures
(A) Women Participation in Politics
Higher Education for Women
(C) Increased Women Employment Opportunities
(D) Marriage Assistance Scheme
(E) Answer not known

s0ps <irflar ‘Ugienn Guer G b aéﬁg 2 mSupSHEHDS ?
(A)  eirflude Queansetlen Lki@,
(B) | QUi EhsE 2 i sl

(C) Quams@sésTar CouamaalTiilieonl HSSLLHSSIS
(D) Hmwenr 2.6 b
(B) ofe Qsflweildane

292. Compared to the year 2017 — 2018 Tamil Nadu in terms of health index
falls on the category of — ' in the 3 round of 2018 — 2019.

\,(o() Improved rank
(B) Retained rank
(C). Deteriorated rank
(D) Negative incremental performance
(E) Answer not known

2017 — 2018 @ @uAGDL Cung 2018 — 2019-@6 apamraisy apHe
FeTHTIE GO g6 Sligliue@L e sBlpprH — fleneus GorbasTéng-
(A)  GobupssuuiL sreflas

(B) ssswass srauilas

(C) &ngeame/efey srouflans

D) <dsfseb afivan Qsuddper

(B) efer Qsflueiidana

CCSE1P/2024 | 16 | o

Click here to Visit >> www.govtjobsnet.com




23. Tamil Nadu follows — to implement thé family welfare and

Child Health Progrémmes in the state.
d \}ﬂf Community needs Assessment Approach
(B) Strategic Plan Approach
(C) Top-down approach
(D) Strateg"ic'Manageme'nt Approach
(E) Anéwer not known
orilossled GHbU Boer WwHmb é@ﬁmg&s@h R ) QI'_II_FE.IE'GU).GFI’ G&U_lsbu(_ag;g,
s8paTH Qe‘cr_rumeﬂm@-
A) 5@9; Gg,smeﬁasm mﬁ@ﬁr_@\ SIS
(B) epGarumu AL e upen
©). Codmig & samsypop
D) apGaruru Coana@reaw <ignEwan

(E) e QsMwellcvaney

oL ‘ i | . CCSE1P/2024
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24. The prime duty of the Central Health Education Bureau 1956 was in

(A)
(B)
(©)

-

N
(E)

Free Health Care Service and activities

Health education in primary level

Health for all

Coordinate and promote health education through various
divisions

Answer not known

1956—e &St &aETHMTE He6k LelwssHan (PSETEnLDE HLENLD

(A)
(B)
©
D)

(E)

Qeeus sarsmy Geamas LHHID QewdUTE s
<ol Blewed — &sTHTT el
SamaTal(HEGLD <2ErTEs b

uoCeaumy  QOfeyseflar  epad  FHETHMTTS soelle  G(HEIS TSI
Cubu@pSeise :
sflen GgMuweferene

95 What is the recent addition to the existing family of AYUSH system?

(A)

(©)
D)
(E)

Reflexology
Sowa Rigpa
Naturopathy
Accupuncture

Answer not known

AYUSH simwriifer gHuusda sbugde GersslullL pamp Wng)?

@)
®)
(©)
D)
(E)

LG e&evevmess)
Gameu Méum
@whens WDHSSILD
&G LILIEHFT

efleni Ggfuwiellerens
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.26.

AT

Under Chief Minister’s Girl Child Protection Scheme an annual |
incentive of Rs. is given to the girl child every year from
the 6t Year of deposit in order to meet education expenses, the value is

(&) Rs. 1,000/-

(B) Rs. 1,200/

\JJ Rs. 1,800/-

(D) Rs. 2,000/-

(E) Answer not known

goewdefler Quar @wpms Lrgsmiy gligdlear &p swels Qraeysamer
FREsLuEHETE GatCeurs @parHh 6 U GRbssE meullys CQsrensuler

- Baugl a@H PSS eUmISLLEID aBLTHEy easssQsrasilar by

(A) e 1,000/
B) ¢ 1,200/-
(C) . 1,800/-
@) en. 2,000/

(B) e Qsfwelcena

Which Housing Scheme assures a house not only to the homeléss slum
dwellers but to the urban poor, LIG and MIG categories?

(A) MUDF ~ (B) TNUDP
(C) JNNURM BT PMAY(U)
(E) Answer not known |

2A7fen erbg S euad) FlLwnarg ef_pp wasEHES LGOS B&T GTenLpEaT,
G®DBES GUBLOMEID © ererariae oMb BOSST wiés LESEREGL @@ 6l i

o sl Gandlpg ?

(A) MUDF (B) TNUDP
(C) JNNURM (D) PMAY(U)
(B) - e QgMwelerena

19 : CCSE1P/2024
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93, Dr. Dharmambal Ammaiyar Ninaivu Assistance was given to which
category of women? '

()
®
V)
D)
(E)

Poor Women Marriage Financial Assistance
Nutrition Food for Women

Widow Remarriage Financial Assistance Scheme
Marriage Assistance for Orphan girls

Answer not known

LT, STOMDUITET  SLDEnOWIT Hevare o5 ehs @&
GUIPRIGLILILL 817

(A)
(B)
©
D)
(E)

29. Post Covid-19

arevipll Quaiaar Fpoamr 2 gelils Cgirans
QuamsEpEsTa 2ol L 558 G@PUT L e
eflFenal LomILDETLD gg,aﬁﬂ({r;@ig,rrmas

BSTeUDD CueTSET Si(HLOTS Q&Tens

afen Qgiuieilevene

constant price in TN.

A)

N

(©)
D)
(1)

110

8%

6%

5%

Answer not known

Q1 16T & @B &S

percentage of economic growth increased at

Garellr. 19-pe Gp@ sUlppTgen QUTGETTSTY aueriEs Hlavowirer ellenaudled

5EEIFD 2 WITHSIETETS-

@) 11%
B) 8%
©) 6%
D) 5% ‘ ,.
(E) efen_ Ggflwaideame
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30. Which of the followihg 1s incorrectly paired?

(1) Child Helpline " — 1098
(2) Women Helpline ~ 1090
(8) Cyber Crime Helpline — 1940

(4) Coastal Security Helpline — 1093
(A) (1) and (2)
W& @ and 3
© @ and@
(D) (1) and (4)

(E) Answer not known

SlesralpeuareupBled erg Seumms Genamssiul Herers ?

(1) ©wimssd 2 g6l aer — 1098
(2) Quanrser 2 569 erei — 1090
(3) ewsur a?lemgm‘*&g,aﬁl GT @t — 1940

(4) s Gl ungisiy o g6 erar — 1093
@ (@ ops @
®) (@) wppo 3
©) (3 wogiv (4)

D) (1) wogo (4)
(B) e QsAwelodame
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31. The goal of the Public Distribution system in Tamilnadu is to ensure

to all citizens.

r

v&ﬁj Food security
(B) FEqual distribution
(C) Social security
(D) Economic security

(E) Answer not known
sllpem e Qurg elHlCures gL g GH&Gamer

(A) o ewre) LTHSTOL

(B) sw eHGWnSD

(C) sops unglsTiy

(D)  Quumengy LITGIGITLIL

(E) oflen QsMlweidene
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32.  Read the following :
- (D. Dream Home Scheme for Tamil Scholars.

(II) 15 cents of land free of cost in the preferred places in their native

distriet.
(III) Tamil writers bene'fit through the scheme in Tamil Nadu.
(IV) Only 5 cents of lanél for those ;;vriters. .
(A) (D, (IV) only | . B) dI), dID) only

&7 (D, aV) only (©) (D, (11D only

(E) Answer not known

aunsubisamen aundlss:
O saay @ows SLb 00 eparaTisEss

(II) Sjeugei  wreul L msefiey eurseflear eNmEiutiug 15 Qe Bleomiger

QUPRISLILIGID.
(1) sBip prige, sl aussrenisdr @sSLib apabd LLaTaL_aampart.
(IV) Y Gr@gg,rrmfra;@ésé g;@ Q-EG&TI'_l Beb auphisu@ib.
@ O, @) o> (B) (D), (11D ;DL-_@L-D
© @, av mf.@fn D) @), dII) we@Ew

(E) dler Qsfweievena
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33 Match the following reformist with their life period :
(2) Raja Ram Mohan Roy 1.  1858-1962

() Jotiba Phule 2. 1842-1901
(¢©) M.C.Ranade 3. 1828-1890
(d D.K. Karve 4. 1772-1833

@ ® © (@
@1 2 3
®1 2 4
Y R

3

@) 1 2

LS JL S

(E) Answer not known
Qe ErHmbsandaamer Sieuigailen curpbTEHLe QLImrS8Is

() gmegm gmid Cuomsesr Fml 1. 1858-1962

(b) Cmrdur yGe 2. 1842-1901
(¢) enbd.g. gerGL 3. 1828-1890
(d) 15.Gs. smiGeu 4. 1772-1833

@ ® @© @

Aa) 1 2. '3 4
® 1 % . d 3
C) 4 3 [ 1
D) 1 B 1% 4

(B) eleL Qsflweiidame
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34.

35.

Choose the correct one which is not included in Human Development
Index estimate.

(A) Life expectancy (B) Education

(C) Per capita income \M Birth rate

(E) Answer not known

Losuﬂg,‘ aueriédl @GOG oAU gD Cedsiiung  sflurer  petaps
CabOshssa|tb. |

(A)  spwer erdiruminy B) a6l

(C)  seflpuir eummard (D) Qpriy el

(E) ofer GsMuefcvena . :

Consider the following districts qf Tamil Nadu :

(1) Kanyakumari
(2) Vellore

(3 Ariyalur

(4) Coimbatore
(8) Tuticorin

Select the top three districts in: Child Development Index.

(A (D), (2) and (3) only B) (2), (4) and (5) only |

(© (1), (3) and (4) only \AD) (1), (4) and (5) only
(E) Answer not known

Spargid Slps el L kismer smsHd Qasrdrs :

(1) - senaflumsof '

- (2)  Geugyrir
(3) arﬂu@rrr'r'
(4) Gsmu LSS
@) gsgs6,y

Gphmg eeriE @il ged aperafimawie o drar s eperm) LOTEUL_L_MBISEnETS
Gsfle) Cews. ' '
@), (1), @) wpgid (3) LD (B) (2), (4) wpgud (5) wGid>

©) (1), (3) wpgid> (4) LG D) (1), (4) wppub (5) LLEW

(E)  ofeni Qs flwaldsame
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36.

P, Q, R, S, T and U are six members in a family in which there are two
married couples. T' a teacher is married to a doctor who is mother of
R and U. @ the lawyer is married to P. P has one son and one grand son.
Of the two married ladies one is a housewife. There is also one student
and one male engineer in the family. Who among the following is the
housewife? ' |

A P | ®) Q

C S (D) 2
(F) Answer not known
P, Q R, S, T woppd U ydCur gm GObUsHdar 6 o pularisd. e isefld
@ran@ dwamoner gbuSwi o drereant. 1 erarLeul @b S AN wHhmId eurr
R wpmip U-ér gmumpnar imagleieny wembgl Clemamerarm. Q eremuatT G(m
gL sueogp, Ggih e P g werrpg) Clame (ierarTir. P erénmueum&d ep(h &6
hpd g Guper edtetant. @@ Spwearorar Huensailed el 6L lg.6D
Gliuer bHDID Sips GHLUSHD @ <par umblumert WHMID @b WTaTalT
o arenait. erafled SipsaamLairsafldy wmi el . @mEEn e ?
@ P ® @
© S D) T
(E) oo Qzfweiiédana

37. IfA=Z=1,B=Y=2C=X=3,.... etc.
Which one is wrong?
A) M=N (B) M+N=L+O+A+Z
(C) A+B+C=X+Y+Z ' JB E,G,J are prime numbers
(E) Answer not known
A=<¥21 B=Y =2 C=X=3,..... etc.
erafled 6Tgy) HeUDTERIG!?
(A) M=N B) M+N=L+0O+A+Z
(C) A+B+C=X+Y+Z (D) E,G,J erémuemes LsT cTaTser
(E) &fen Qzfwsliévena
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38. A does 20% less work than B. If A can complete a piece of work in

.39,

7 hours then B can do it 1 in

\})0/ 6 hours , (B) 5% hours

© 6§ hours _ D) 6% hours

(E) Answer'no_t known

A erérueur B ereucueny a9 20% sopeurs Gauame umisSpmi. gm (Seusmuemu_l LI
A 7-2— exfl Cprsdler aprliumymenmed B eréteueray Cpmbd erGium?

(A) 6 wanfl Crybd B) 5% wenfl CHyid

© aé\mﬂ Cpyio D) 6% e Cpyid

(E) oferl Qsfusdoane

If 4 men can complete a work in 3 days and 3 women can complete that
work 1n 6 days, then which one of the following 1s not true?

(A) 8 men and 6 women can complete the work in one day -
6 men and 8 women can complete the work in one day

(C) 12 men can complete the work 1n one day

(D) 18 women can complete the work in one day

(E) Answer not known

@ Cumoawu 4 ansdar 3 prisafd wgiur wombd 2Gs Ceaamamenw
8 Quanser 6 prisafld wiglut el WeareuHeLaaIPNIST SaUDTETE TS ?

D) 8 yearsdr whpd 6 Quansar @Gy prafléd Cerenaarws (gl

(B) 6 syamaer wppd 8 Quanaar @Cr prafier Ceauramaeanut (gL
(0 12 yawsdr ips Caumamw @Cr prafléd apgliuf

(D) 18 Quemaser B Ceuanawenw @Gy prafld (gLl

(E) oferr QzfNueidane
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40. The area of circle increased by 66 sq.cm. If 1ts radius is increased by
1 cm. Find the area of new circle.

2 3 2 3
A) —x10 B) —=x9
(A) = ()7><

\ye{ _><113 | ) %x123

(E) Answer not known

el L gdlar b 1 Qs ofasfsad Curg et gdenr ugliiy 66 sz Ge.ib.
<FlsNadng. ydw el L gdlem LrliL srams. '

2 2

A Zx10° B) Zx93
()7>< , ()7><;

2 3 2 3
CY eIz D) %12
()7>< ()7><

(E) e Gsflueidoemer

41. The population of a town is increasing at the rate of 6% per annum. It
was 238765 in the year 2018. Find the population of the year 2020.

(A) 286726 B 268276
(C) 212500 ‘ (D) 286722
(E) Answer not known

R BaTsdd wesear Qgras ar(hssE 6% dsflsdps. 2018 =yb %mﬁr@
wssar Cgrens 238765 <s @mbsg. 2020<syb yamger s QsTansamuis

HITGHTS. -
(A) 286726 (B) 268276
(C) 212500 ' (D) 286722

() e Qsflusideme
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42.

43.

If the Simple Interest on Rs. 20,000 be more than the Simple Interest on
Rs. 15,000 by Rs. 3,000 in 5 years, the rate percent p.a. is?

(A) 9.8% | (B) 10%

VO 12% (D) 12.5%

(E) Answer not known

5 gar@sefles gd e 20,000 Cuod doLsEb gl ealgqurarg iFd
. 15,000 Gue dars@d seafll eanlgeow ol 5. 3,000 oifsb aaler <y
QUL iy GIFID HTETs.

A 9.8% (B) 10%

© 12% . - D) 12.5%

(E) & Qsflueldama | ;

f6x+2y___§ and _F*2 L8

3x+4y 4 2% +3z 7

Then find x:y:z

Q)4 1674 veB}’4:15:2-
(@) SN B e Mk 413 2
(E) Answe‘r‘ not known

6x+2y=3 W e 3

3x+4y 4 R 2x+3z='?

GTEiad X1 Y12 § SIS

(A) 4:15:4 (B) 4:15:2
(C) 8:4:7 (D) A 138
(E) efani Gafweldame |
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44. The LCM of three different numbers is 120. Which of the followmg
cannot be their HCF?

(A) 8 | (B) 12

© 24. | BT 35

(E) Answer not known

apeaiy  eramsafiar 5.8, ey 120 eafld Qar@REsinl GI'Gﬁ'ﬂTGh’O’ﬂGU Tl
B.QuUT.el. & @)(HSS @Ueng)?

(A 8 (B) 12
C 24 (D) 35
(E) &leni Gsflwefcrene

45. If a=2%2x3?
b=38" x5 |
¢ =5%2x 2% then find the value of
HCF(a?, 8*)+ HCF(®%,¢®)+ HCF(¢?, a®

\M 36496 456 - B) 3%+2%4+5°
(@) . P 3:8045° D) 57+3%42°
(E) Answer not known

a=2%x33

b=23%x5?

¢ =5%x23

srafled 8.Qume. (a2, b3)+LS®|_rrr6u (b2, c3) + 8.Qumen (¢ a3) ér WL

STEHT S
Ay« 85 & DO 45° (B) 3% +29 +5°
@ *o28 855" (D) 5% +3°¢+2°

(E) ofleor Qsfusierens
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46. During one year, the population of a town increased by 5% and during

47.

the next year, the population decreased by 5%. If the total population is
9,975 at the end of the second year, then what was the population size in
the beginning of the first year?

A) 9,500 | (B) 10,500
© 9,975 \J®7 10,000

(E) Answer not known

@ &HUACL amLsdd @ parsder Lsdr Azmans 5% fsfsdpg. Gogib
S50E A0S aumLsHd wasdr Ggmas 5% G@DEng. BIrERTLTaIF < ®oTiq 6
weeld Qurss weser QAsres 9,975 aafld wsord @Tger CsTLss580

&&ET CBrans GTeUeUETaY ?

(A) 9,500 ' (B) 10,500

(G 9,975 (D) 10,000
(E) e QsRueidena

What fraction should be added to the sum of 5%, 4% and 7 % to make

the result a whole number?

1 ' 2
@50 . B -

3 P | Kl
N8 2 o) =

(E) Answer not known

5§ 45‘!i LodHmiLb 7 @G}Jﬂ)@w FPsRILeT ahs Yararsmss sl DT @ LW

5
Grswrmrrr@m?
i | 2
Ay — By =
( ) 40 ®) 40
3 4
C — D) —
© 10 (D) 10

(E) efenr. Gzsfueieene
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48. The causative organism of Whooping Cough

M Bordetella pertussis (B) Diphtheria antitoxin

(®) Streptococcal pneumonia (D) Salmonella paratyphi

(E) Answer not known

S&E6UMEN @) (B 2 (Heumd@d Gomis &mud)

(A) I_Ileflq_@I_GiJGDFF-@LII:H'_(BGﬂS]Gﬁ) (B) wqudflur syerig L médle

(C) @QLuCLrsrssd HvGorelur (D) erdCGur@ardear LmgrepL L

()  eflen Qaflwellaene

49. The major practice involved in Rote learning is learning by

(A) In-depth subject (B) Concepts

\-,'(C) Repetition (D) Higher order thinking

(E) Answer not known

QummeT 2 ewyTd sHPlD WEHL BoLpHDWrs @EUug ——— SHDE
S&HLD-

(A)  um_gens Ypwrs (B) smsasisamen

(C) dawrpid D) ewr @uiiE Hbsman

(F) e Qsflwsiidane
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'50. ' Plants that endures best at lower light intensity are called

(A) - Heliophytes

(B) Halophytes
Sciophytes

(D) Sporophytes

(E) Answer not known

Gopps gefls  Gedlelld  Splunss Qeudu@d  sreurhiGeT @QJ@WQJ

DIDPEHETID.

* (A) afefCuireii (R &eT

(B) onrCanreul Gaer

(C) &aGureeul st

D)  wGurCGrrenul_(R&ar

(BE)  eferL QsMwefdene

51. Earth’s surface reflects back a portion of the solar radiation is

Climate
Meterology

Answer not known

LBl u96br Gmmuguurrsu Glw sdieisfler qm u@g‘,] LSGm@m ﬂqg‘,]uc&asasuu@eugj
@eueuny SePssLILGEDSI.

&)
(B)
©

D).

(®

2,OICLT
SR
srables
eumerflameoudlwieh

efler Ggflweldrana
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’

52. Mantoux test is used for identify —————— Disease.
(A) Malaria v(gf Tuberculosis
(C) Cancer (D) Diphtheria

(E) Answer not known

Lome_réev Camgeanar S Gorenw sar® Ny ss 2 sa dlns).-
(_A) CaRwT (B) sreCpmi
©  uppGEm D) wogfur

() efen Ogflweldvene

53. Eutrophication leads to the death of fish due to
(A) Increasing Oz content
(B) Increasing CO: content
(C) Decreasing Algae content

\/@) Decreasing Oz content

(E) Answer not known

mLantﬁ]@as@qasaﬂ@'rr@ Bafletr @nULEE sTremToms @ HLILg)
(A)  <sallsmen oemey fsfig)

(B) smiusrer gsme® eray oFsMiug)

(C)  unflsdr sranafsms G@naigl

(D)  ysallger siatay Gampas)

(E) &fen QgMwelevenaw
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54.

5.

- Which of the following observations are inertial?

(A) A passenger in a train which is slowing down to a stop

\)B( A driver in a car moving with a constant velocity

(C) Apilot in an aireraft which is taking off.
(D) A child revolving in a merry-go-round
(E) Answer not known

Spsrapib Hlapeyselids ag Hlenawibd?

(A) Qugeuns psibg Qeatn Hbs s @ QsrLiauamguiie e drer Lwanf

(B pPoewrar Cauasdd Cedgin srflar U GBT
(0O 2wy e LpsEL efoTargSer aflwrarfl

D) gas grigasde sHRIb @G GRS
(E) efen. QpNwueidana

The article that states the role of scientific temper 1s

(A) Article 35°A A Article 51 A
(C) Article 32 (D) Article 14 A

(E) Answer not known

<iflefue warflae (scientific temper) upH sapb sl L9fey

) N dfa) 35 A (B) seLi8fey 51 A

©) s o9fa 32 D et R A A

(E) ofev Gg;rﬂ wediévened

35 CCSE1P/2024
[Turn over

Click here to Visit >> www.govtjobsnet.com




56. Choose the wrong match :

(1) Kapil Kapoor — Literature and Education
(2) Deepak Dhar — Science and Engineering
(3) Lakshman Singh — Literature

(4) Vadivel Gopal —  Music

(A) (1) and (4) are incorrect

' \Xﬂg (3) and (4) are incorrect
(C) (1) and (2) are incorrect
(D) (2) and (3) are incorrecf

(E) Answer not known

SQUDTET (@) enanTent) SeTi Mg :

(1) s sy — _@més;sﬂu_l@pa.b', seeuyLb
(2) gus s —  efleflwgibd, QurBlufiwgyb
(3) evseipwer S —  @esfubd

(@) axyGad Csrum® — @os

(A) (1) wppid (4) LLEDL seuprars)
B)  (3) wogw (4) LLED geupreas
(©) (1) wpgid (2) wiGid saprar
D) (@) whgid (3) LG Feuprang

(E) oo Gsfweldene
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57. Which age category as consider for youth as per National Youth Policy,

8.

2014?
(A) 13— 29 years (B) 15— 30 years
(C) 18- 35 years VQHY 15 — 29 years

(E) Answer not known

2014-6 gyemh Csdlu @energst QamdransulanLiy Glever@siseien 6ris euwgLl
YGfey smsHe Carereriiubhidng) ?

(A) 13- 29 arwgy ey (B) 15— 30 auwgir Gfley

(C) 13 — 35 avwgis 9fley (D) 15 —29 evwgis Gfley

() ofenL Gsfweieee ‘

Which among the following measures is/are taken by Government of

India to cc_)mbat corruption?

(I) Direct Benefit Transfer Initiative

(I) E-tendering in public procurements

(III) Discontinuation of interviews in recruitment of Group ‘C post.
A) (D only (B) (D and (I) only

(C) (D) and (II) only v(fET (D), dI) and (III) all

(E) Answer not known

sarpaney  ardiggy  Gumyn  Gemeaymid  pLeatgsamaseid  @bHw  irsmed
T(H&SLILILL FI 6T/ eTan@l ?

D Corg ver ufwrHoLd

(II) Qung Qsméarapseded @)-CLemiir

1) @mu ‘C usdssrar <y Ceirtisarar Coismamana ;Fﬂgug,é]mgj

A ) v B) O womgie (II) we @b
(C) (D wpgw (III) weEwv (D) M), dI) wpgpw JII) sieweaggn
(E) e&leor GsfMueidame
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59.

60.

Consider the following statements, choose the correct answer :

(1) G20’s Constitution is a Formal Document .
(i) G20’s Governance is based on the principles of Consensus

- (iii) G20 Inclusivity and Representation is the basis of the Presidency

(iv) (G20 Respect for unity; rather than sovereignty
(A) (v) only correct (B) (ii) and (ii1) only correct
(C) (1) and (i1) only correct \ﬂ?f (ii1) only correct

& Answer not known
peeamL aursdukisaner &mgs, sfwurar el amu Caibleshiés :

1) G20 — pr@sefler erduemenbliLiTarg) @I (PENDUITET <4,EIETLOMELD

(i) G20 — prRsefar flparsnrag omolss Cararanssamer g L@ LTES
Cls g '

(i) G20 — Gewssb erep Camiun_mewrarg o drer &SuSlBLUSID, G9THESsgen
&gdﬂ gmmsﬁ)mésasrrsm <2 lg LILI@nL_SHETT&HiDd

1) G20 - @bmenwsGs wilwuTms, @@mmnﬁmm&@ )

(A)  (1v) B @b sflurerg (B) (11) whmid (111) i Hid #flwinerg

(C) @) wombd (i) ol sfwrarg (D) (1) L ED shuraTg

(F) e Qafwslidrana

Reason and Assertion type :

Assertion [A] : Khel Rathna Award — 2024, was also given to
Mohammad Shami. '

Reason [R] : This award was awarded by Anurag Thakur, Ministry
of Youth Affairs and Sports.

(A) [A] s false, [R] is true

(B), Both [A] and [R] are true
\'&@5’ [A] is true, but [R] is false

(D) Both [A] and [R] are true, but [R] 18 not the correct explanation of [A] 4
(E) Answer not known .

F DM WHHID STTETD UEmS :

ampml [Al 1 2024 Gaed ggemr efl(pg ANSCs efyT Waog sOGGD QPBISILLLF.

smyewnd [R] : Qbs emdanar wsflu @Qever@st wpmb  efl@emwr (g H@D

DIOEFT DS@ITTE SMdall ailpmidlermi.
(4) [A] paup, [R] &
3 [Al oppid [R] @ran@io
(©) [A] &7, @pened [R] seup
(D) [A] wpmd [R] &AGw, %mrrcb [R], [A] &6 efwar eflendsid @)cbans
(E) eafen Qzfwefdana
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61.

Assertion [A] : Organic farming is becoming increasingly popular as if

Reason [R] :

protects the environment.

Organic farming based agricultural system that uses
ecologically based pest controls and biological fertilisers
derived from animal waste and nitrogen fixing cover

Crops.

-

(A) {A]is true but [R] is false :

\,'(B{ Both [A] and [R] are true; and [R] 1s the correct explanation of [A]
(C) [A] is false, [R] is true . _ _
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]

(E) Answer not known

e'mmgm.[A] :

smyesnd [R] :

gfw  Cavetmamenowlledy  Gpe  ungsréslubeusmed,  Gu@mEiu
wpepuile ruweL Bl aBE DS

FONESYD Siglinatuleoner Lids s QriurGeer whnb ofekiEs
siflejser  OMID  @plrnamer Haobnssd Lulrsefleo  @mbal
Qupiiuie. 2u€@Aw® e grsmart LvwertuRssid  Qubans
Ceuatramend gL wleonear elleusmu (pe.

(A)  [A] e_awenw, <penmed [R] seuprang

(B) [A] vomn [R] @ranpb eareaw whpbd [R] eaarug [A] Qe eflwrer

clem&aLd

(€)  [Al sauprang, [R] e a@merio

D) [A] wp

b [R] @rar@id o a@wew grer, eyermed [A] eramusng [R] sflwrar

cllenssd @ dane

(B)  eflen QpfMueiicrena
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62. Find out the incorrect statement about 2024 — Padmashri awardee,
Dr. Narayan Chakraborty.

(A) He 1s from West Bengal

(B) He significantly contributed to the field of environmental health
and safety .
(C) His research primarily focuses on remediation and treatment of
_ arsenic poisoning

\}ﬂs He had been conferred Padmashrl Award (2024) in the field of
- Medicine

(F) Answer not known

2024 b syemgparar LGS elmg QuUbD (werateuir. BrymueT F&yLTsS LhHlw
saupmen s phenn sarHiliqssa|ib.
(A) e Cobg eunsragamss GCarbeeuir

(B) @i sHpFGP® &STSTTD LHDD UTSHSTULS Q’;ij’)ﬂ’)US]GD GO 5558
Likisaflgg eremm

(C) g <prmisd wyisalls péssga@bdar Sie wbHpd HbsFamsmw
(PSETEOOWITSHS Cl&TeiT_5)

D) weumee 2024 b yearghster usoud ks wGSFS Sanpuid
GUDEIGIILICL

(E) ofen Qzflwaidene

63. In which hills of Mehalaya, ‘Geological Survey of India’ (GSI), discovered
anc}ent fossils?
)  South Garohills (B) East Khasi hills
(C) West Khasi hills (D) Jaintia hills
(E) Answer not known

@idw yelblwd pie] ewwb, Gosrowreild b Ll ugmmu_lrrarr
LemgLIgeusmes e Dlbss 2
(A)  Qshe CsGrm wepaser (B) aﬂg&@ &8 ena&eT

(C) Cuwpe srdl waaeser (D) enggeimiq M HEnavEET
() e Ggflweidame | |
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64. Dust particles from thermal destruction of wastes can be prevented from
escaping into the air by using
(A) Air conditioner : (B) Bioreactor
(C) Ventilator \}HY Electrostatic precipitator
(E) Answer not known 4

a;«aélmu@urr@l_aseﬂm Gleuli = lelleli(mba) a_@surr@m 8 glaeTaamen
epab &THM swliLass sHESTD

(A)  @efrersend - (B) 2 lre e
(C)  seunes smedsdr D) darflera fenrapss
(B) &Moo Gsfueidme

65. Match correctly the disasters with their corresponding characteristics : [}
(a) Volcanic eruption 1. Violent wind

(b) Cyclone 2. Submarine earthquake/landslides
(¢) Tsunami 3. Desertification
(d) - Drought 4.  Magma

(@) o B nle)y . (d)

4 I 3
(B) 3 2l 4
(€13 Io s 4D 4
(D). 2 3 ! 4

_(E) Answer not known

CurPleysener sieupPler Cgmfiyamiw LarLsEsLer sflwres’ QuTmssayb :
(a) erfweney QeugLily 1. s@awwrer by

(b) @oreuef 2. sLeoy fop@ésb/Gerey
(© <o Curee -+ 3. uTGEIITESS
(d) aupré 4.  unepsd Gy

@ b @ @@

A 4 1 2 3
(B) 3 2R | 4
(G 35 w10 g.v 4
D) 2 R S | 4
(E) &feni Gzfweldae

o | 41 CCSE1P/2024
o) ' [Turn over

Click here to Visit >> www.govtjobsnet.com




66. Which of the following statements are true in respect of laterite soil?
(1)  This word 1s derived from Greek
(i1) This soils are rich in Iron and Aluminium
(iii) Poor in nitrogen, potassium and lime
(A), (i) only (B) (1) and (ii1) only

) (i) and (iii) only (D) () and (i1) only
(E) Answer not knqwn

syenaToeT LpHlw Yearalmbd s poiselle ergy aflwmerg 2

1) Qs enismsuraig SGrés omfule Qmbs abss

1) @do Quiby whpmibd sgiflalub 668 dswrs o deng

(1) @ enplrmen, QUL Lrflub WHMD SETETTbL GMDEITES 2 GTaTs)
(A) () oo@b (B) @) opmiwb (111) b G

(C) (1) wpmw Q1) b Eib (D) (@) wpopubd (1) wIGb

(B)  efeni- QgAuaidene

67. The river which has the largest basin among the following in India 1s

\'@ﬁ' Godavari (B) Kaveri
(C) Mahanadi (D) Krishna
(E) Answer not known

Wemaugsd @S pHaEnar oids o bniasamu Qa6 gl
(A)  Garsreuf (B) srGauf

(C)  wsnpd (D) meigemrm

(E) elen GsMwueldene :

68. The Norwesters bring about 50 cm rainfall in

Assam (B) Odisha
(C) West Bengal (D) Karnataka
(E) Answer not known
prikleusvir, 50 Gg.5 wenplitumpeey — @ S HmHADg)
(A} oiembd (B) qusr
(C) Cube@ eumigrarld (D) srpr_sn

(E) e Gsflusldama
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69. Which of the following pairs are correctly_ matched?

Tribe ' State
(1) Limboo (Limbu) . Sikkim
(2) -Karbi :  Himachal Pradesh
(3_) Dongaria : : Odiya
(4) Bonda . Tamil Nadu

vﬂ() (1) and (3) only

(B) (2) and (4) only
(©) (1), (3) and (4) only
(D) (1), @), (3) and (4

(E) Answer not known

Slpaer_eupmien erenel sMlwuns QumphSlujeraren :

gend _ Lobleid
(1) SpCur sidag by : a‘-]é;&b
(2) s&m9 : . @uorssals 9rGsen
(3) GesrmsarMwmr ST Y TR
(4) Curarin 58 BB

@) (D) wppw (3) o
B) (2 wpgd (4) wLEw
©) (1), (3) wppid (4) G
@) (1), (@), (3) wpp (4)
(E) e Gsflwefdame
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70. Dakhni literature was patronised by the Qutb Shahi Sultans of

\jﬁr Golkonda (B) Bijapur
(C) Ahmednagar | (D) Bidar
(E) Answer not known

grsdlall Qasfb Ggil ayrdl GOSTET ————— 6 YsN&ESIIL G

(A) Candememm - (B) Gguy
(C) =g pai = (D) Qe_mir

(E) e&flanL. Qaflweidena

71. Choose the correct answer :

Assertion [A] : Bahman Shah attempted to exact an annual tribute
from the State of Warrangal, the Reddi Kingdoms
Rajamundry and Kondaveedu.

Reason [R] : This led to frequent wars.
(A) [A] is correct [R] is not the correct explanation of [A]
(B) [A] is correct [R] is wrong
(C) [A] and [R] are wrong
[A] is correct, [R] is the correct explanation of [A]
(E) Answer not known
gflwurer eflenL_amws Carplls® :
sapm [A] : Limioet ey WHeF FALTES TGS @g,rr@g,g QUITTEIGEE WHoID Glriiig

sipgsemne grmwbdfl, Carari eI ,&lwen LSg,J EY LT ALY
HETHCsTHID Fevp QeamisHaeussni.

argenrid [R] : Qa1 @iqss1q Gurisedt gpu el aIGSsS!.

(A) epm [A] efl, srgemd [R] sapm [A] el sfwnen eflerésinamn.
(B) smpp [A] &f; srpewrd [R] senp).

(C)  spm [A]l-aybd sryewrd [R]-b sermy

D) spm [A] &M, srgend [R], sapm [A]-6n eflwnen efengswn@id
(E) e&fleor Gsfweiecrencn \
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72. The second founder of the Maratha Kingdom was

73.

(A) Bajirao (B) Balaji Bajirao
V@Cf Balaji Viswanath . (D) Madhavrao
(E) Answer not known

A

wrriigw Guiyrdler @gearmeug Hlnieuen

(A urggre (B) urars Lrgdymey
(C)  urem aé]a‘umprrﬁ, | (D) wrseirme
(E) &fen Qsflwciéioee

Arrange chronologically — conquests of Akbar
(1) Kashmir

(2) Kabul

(3) Qandhar

(4) Ahmednagar

@ @3, @), 4

& @, @), ), @

© O 6, ® o
O @@, @0

(E) Answer not known

eisufler vaLQuELY deupblsmers srwaflasiu(ssis.

(1)  ameigSi
2) smye
(3) spsani

(4)  Sapwsps

@) 1), 6), 2,

B) (@), D, 3), 4
€ @, 3, %, 2

D). (3, (@), @), (1)
(B) elev Qsfiweidvaa
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74. In the Sultanate rule, the Prime Minister was known as Wazir
(i) He was primarily the head of the finance department called the
Devani-i-Wazarat.
(i) He was in a position to supervise only the income and expenditure
of the department.

Which of the above statements are correct?
4), @ | (B) ) -
\‘@)f (1) and (i) (D) None of the above

(E) Answer not known :

gogranunseatian o, fulld, Yrsw wpdM eundlm erenm ienLpSSLILIL L.

(1)  Feurall-Q-eflaryng cratp@pssiUlL B HenaE QTSI SaO6UTTES
QEweoLIt Lmi ‘

(1) seplgder euyey Deweys samrs@smer Guphuniameudhibd G sHedmbair

Cupeplu epnsafld erenar sflwrenene ?

&) 1) (B) @)
€)@ whgn (i1) (D) Cupsfluapda agaubd Godma
(E) oflen Qsflwefdvena

75. Choose the right matches among the following :

(1) Aryabhatta —  Aryabhatiyam
(2) Varahamihira — Hast yayu veda
(3) Brahma Gupta — Brihat Samhita
(4) Vagbhatta — Ashtanga Sangrah
\}A{ (1) and (4) are correct (B) (1) and (2) are correct
(C) (2) and (4) are correct (D) (2) and (3) are correct

(E) Answer not known

SpsarLeupper sflwnst QurmpHuanss Caie Ganis.

(1) fAwoccr - g flu urtiguib

(2)  eaugran B yr - anmev wry Geugm

(3)  QrbwElusi —  Amss sbadsn

(4) eumdLmLLT — |G ITEIG FRIGTT

(A) (1) wopmwb (4) sflwuraree -(B) (1) wpmib (2) sfwnareney
(©C) (2 womo (4) sAurereas (D) (2) wpmd (3) sMwrareme

() &l QsNwaloene
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T4,

Consider the following statements on State Information Commission.
Find out incorrect statement.

(i) The Commission consists of Chief Information Commissioner and
not more than 5 Information Commissioner.

(i) The State Information Commissioners are not eligible for
reappointment.

(1)) The Governor can remove the State Information Commissioner.,

(v) High Court Chief Justice is one of the members of the committee
which recommends State Information Commissioner.

(A) (1) and (iv) are incorrect (B) (ii) and (iii) are incorrect

\‘(Zf (1) and (iv) are incorrect (D) (1) and (i1) are incorrect

(E) Answer not known
mbled sEeue aanh LHBlu SpsaT s byisamer seuatl. seupTaralhenn s Hs.

O oawd @@ soemn  B@@ILT LHND PHEEEE Osmso SHEUE
peneuraemer Camarris(hés Ceudm@iLb. :
1) wifle ssad yoarwisdt waflude enrssiLLL ApE B&T@L b
B <2 25 & ) o
Fluwasdn@ seduaBGunr =idwe.

(1) wrfle gewd ymamumy <L EsET LS s Qs Apigb.

(iv) wrfle ssad oo®TLSEHEE, pearursmar Lflbgarsgn  Eupeld
wrblogsler ewmbdlwearn gawenn HEUSLD G 2 mndart.

A () wpp (¥) gap (B) (i) opgd (i) paip
©) O wpgw (iv) seug (D) @) wppw (1) seum
(E) eferi_ Qsfwefdanen

77. A State Human Rights Commission inquires into violations of Human

Rights related to lists enumerated in the
(A) State list (B) Union list

State list and Concurrent list (D) State, Union and Concurrent list
(E) Answer not known ¥

wrple wells 2 faw wmarub, weals o flanio Bodaer CQsriurar Bpdsamar
cilenflée Spaaml. Llqueld @mbs CupEsreraramd

(A) orfe uligwe B) gemdlu uliquie

©C)  vrfie wopw Aurg Ll | D) wrble, gerdu LHmBL Gusg LI g LD,
(E) oflenr @grﬂu_laﬁ]si)smw :
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78. Match the following :

Article
(a) 124 C 1.
®) 125 2.
© 126 3.
@ 130 4.
@ ® O
&2 3 4
@ . -4 '3
© 2 1 3
@ 4 3 2

Subject
Seat of Supreme Court
Power of Parliament to make law
Salaries

Appointment of Acting Chief Justice

(d)

d g PO e

(E) Answer not known

QUTRSSHS

(a)
(b)

©

(d)

(A)
(B)
©
(D)

B

i)

124 C

125
126
130

O

1
2
3.
4
b) (@
3 4
4 3
1 '
3 2

Quim(mer

o &5 plwenmsSHer @l Ld
BITEELamSHan L Blubmid SEsTrb
DerdlI MBI Sl

Qe sare sgmamn BHuL Hlunea

(d)

N N I

el Qzflwaildemen

CCSE1P/2024
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79. Arrange the following bodies in their chronological order of establishment..

A)
©
@)

‘(E')

Sarkaria Commission, Punchhi Commission, Rajamarnar

Committee, First Administrative Reforms Commission

First Administrative Reforms Commission, Rajamannar

. Committee, Sarkaria Commission, Punchhi Commission

Rajamannar  Committee, First Administrative  Reforms

Commission, Sarkaria Commission, Punchhi Commission

Punchhi Commission, First Administrative Reforms Commission,
Rajamannar Committee, Sarkaria Commission

Answer not known

Geau(Hd enemBISaeT, g6 a6 sre euflaaluy RYRE®DESELD.

A)

(B)

©

D)

(E)

STSSTAWLN panammub, LiEhs! <pamamrud, JTRLEETTT G, P flireuns
Sisdlmss peamuid

wsd Hieurs STsHmEs poewwld, IO T @, FrssTiur
DpENERTILLD, LLGHE 2 anentid

gTRWETarTT (G, Wsd Hliieuns ESHHESS e, Fidsmilwm

Zhaamwid, LLEsEl D ememruwib

LL@sél pavarwd, (pgd Blreuns EES(ESS @ERTUID, JTRETATTT @(1),

Fr&sTiur <y emenTwid

allen_ GgMwelildana
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80. The Article which is not related to Chief Minister?

(A) Article 163 (B) Article 164
Article 165 (D) Article 167
(E) Answer not known
erflueawlifer aps Sld qp nrbla (PS@enInFFIHL 6T GIFTLTLIENL WS ?
(A)  &fd 163 (B) <94 164
(C) &84 165 (D) 04 167
(E) &l Qsflwelierana

81. The word ‘Parliament’ is derived from the —— — word ‘Parle’ which
means to talk.
| \ﬁf French word (B) Latin word
- (C) Greek word (D) Spanish word

(E) Answer not known

‘Lmprenwenpd’ erergud  Gamd, Gus eenp Gum@perLmdlw  LniGe’  erargiid
QlEmaedlel (mba CumLUILI L g _

(A) 9QrEpe Gwmg (B) axgder Qumf

(C) 4HCGrss Qumg (D) evureiey Gmp

(E) o&en QgMweilcvene

82. (i) The President of India is elected by the system of direct elections.
(ii) The President of India is the Nominal Head of the State.
Which of the above statement are true?
@A) @) ondy & (i) only
(C) Both (1) and (11) (D) None of the above
(E) Answer not known

1)  @pdu gemdud Crigps Caigd epaid Caibbs®msstiuSpmt.

() @pdw merdud Quuigereld eipfler sameall e

GuhaarL sabnssama erg Fiuimerg) ?

(A) () oo | (B) 1) v

(C) @) wpmid (A1) e (D) Cohsear_ erenauwidena
(E) Aevi_ Qe fMwsilldena
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33.

34.

Who called the Directive Principles of state policy as a manifesto of aims
and aspirations”?
JA{ K.C. Wheare (B) T.T. Krishnamachari
(C) Sir Ivor Jennings (D) B.R. Ambedkar
(E) Answer not known
<i7e Apdlpeaps Qerdassmen “Grrésiisdr wHnid lenipe|sefler ihsams” erem
é{Gﬁ)IEQ’Q')QSGUFT LLJHTT?
(A) Gs.4. Gauwr B) g.14. Aewenrionssrd]
(O) & gauir Qmemafinien D) 9.y, bGuss
(E)  ofen QzAweldana
Consider the following, statements on Fundamental Duties. Find out the
incorrect statement
() Paying taxes
(ii) Safeguarding public property _
(iii) Preserving the.rich heritage of the country
@v) Casting the vote in the elections
(A) (i) and (ii) are incorrect (B) (i) and (iii) are incorrect
(C) (iii) and Gv) are incorrect \,955' (i) and (iv) are incorrect
(E) Answer not known '
Slg LILIGHL. SLEOSET LiHHiw FaDMSSHEIET S(HEIF. SeuDNaT Fmbhlenar sarLHs.
@ @ﬂa@m QeggI50
1) Qurg Qensgssmer UTEGHTSS
(111) @pdwreler auetoner umpbLALS®ES Gumﬂa;asrrgg,eo
1v) Gsizasale arssaltssed
@. @) opgo () sap (B () 5o () s
(©) (i) wpgd (V) seum - (D) @) wpgis (1v) geupy
(BE) e Osfweidama
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85. Identify the case which did not deal with the basic structure of the
Indian Constitution?

(A) Kesavananda Bharati vs State of Kerala, 1973
(B) Minerva Mills vs Union of India, 1980
\M AK. Roy vs Union of India, 1982
(D) Golaknath vs State of Punjab, 1967
(E) Answer not known
Ebdw é{rj&mmu;ﬁldﬂ g lIIenL-  SLLEDLDLIL|L 65T Qgm_mfdwrg  eupssean
e Hls.
(A) Gaseunanhs urrd adli Gayer wrflew, 1973
(B) Wanieun ifldev erdi @b gebluid, 1980
(C)  &.Cs. gmis et @pHw gemblwid, 1982
D) Carewssrs i ugpem wirflan, 1967
(E) e&flenr Gsflwueiéraa

86. The First Amendment incorperated ———— Article in ~ the
Constitution of India in 1951.

SO Article 15(4)
(B) Article 15(2)
(C) Article 15(3)
(D) Article 15(1)
(E) Answer not known

(P& DTFMOLIL HHSHD — 1951 — apaid @ps s 2 piliy GeréalulL gl
(&) 68 15(4)

(B) o94 15(2)

(©) 8 15(3)

D) 99 15(1)

(E) &len Qasiflwefeoene
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87. Consider the following statements and related to Janani Suraksha

Yojana choose the correct answer.

(1) The‘ Scheme was introduced to reduce Maternal Mertality and
Infant Mortality Rate

(2) Itis 100% centrally sponsored

(3) Itis 100% state sponsored
V& (1) and 2)
(B) (1) and (3)
(€ (@) and (3)
D) (3 only
(E) Answer not known
maref] srser Gungen QsT_imLw aisdutisns sesdo Qana(), sure
eflapL_anil Gg,r'rgj;@g@ésasme.
1) wsuGup @poy edsd whpd Gpbws Jouy ddssms G@PULSHETS
FHU@SSIULL SLb '
@) 100 szeis wsBl sirsnd AL
(3) 100 sgels wrble <gerd HlHused
A (1) wpp (2)
B) (D) wpgd (3)
© (2 wppd (3)
D) (3) v
(E) e Ggfweddema
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88. Which of the following schemes are about The Rural Electrification?

() Deen Dayal Upathyaya Gram Jyoti Yojana (DDUGJY)
(1) Deen Dayal Upathyaya Grameen Koushalya Yojana (DDUGKY)
(111) Pradhan Mantri Sahaj Bijili Har Ghar Yojana (SAUBHAGYA)

(A) () and (i) only 5 () and (iii) only

(C) (1) and (ii1) only (D) @), (1) and (iii)

(E) Answer not known .

Symio WETDWIDTEESED eTaTLIg] N ﬁ,]LLE&J&BGTﬂGbT epenrs Bl Cupns Gsrer(
BnEsipg) |

@) Ser gwrer 2 unswnw Sgmo Gl S b

(1)  Ser gwner 2. urgwrw Aymblen Qserear i iib

(111) ygren wHHM saprg GRel api s Guingern

(A) () LDj_f)'Q_].L'D (11) LDJ'_@LD. ‘ \J(B((l) whmith (111) Lo (Bt
(C) (1) wppib (1ii) LG (D) (), (1) wpgd (111)
(E) oL Qslueidme

89. Which of the following is not correct abbreviation?

(1) RLEGP — Rural Landless Employment Guarantee

' Programme
(2) SGSY —  Sampoorna Grameen Self Reliance Yojana
(3) CSRE —  Central Scheme for Rural Employment
(4) NREGA — National Rural Education Guarantee Act
(&) (1) and (3) \VAD) (2) and (4)

(C) (1) and (2) (D) (3) and (4)
(E) Answer not known :

Sleeu(meuaTeudmhled 6rg) geugjg,évnas Cummrss Ll (HeTemgy 2

(1)  RLEGP —  eays HlowpGormssrar Geiama 2 md &b
(ZANN\DGSY —  FbyiienT 2wy sGwemiy S

(3) CSRE — s sares CeuaneeumiiiiLy Ftb

(4) NREGA —  Csflu 2ars sdel 2 pdls HLb

A) (1) wpgyio (3) (B) (2) wppw (4)

€) (1) woppd (2) D) 3) wpmw (4)

(E) &le Gsfuelome

CCSE1P/2024 . 54 ‘ ‘ o

Click here to Visit >> www.govtjobsnet.com




90. Deendayal Antyodaya Yojana is for
(A) Reducing rural poverty

(B) Reducing infant mortality rate
\ﬂ?)' Reducing urban poverty
(D) . Increase agricultural production

(E) Answer not known

Sangwirer SipSHCUTSWT L 2 (FeUTGSLILIL LGl
(4) ears ap@LOWLE GODES

(B) && oye eﬁggmg. GODES

(C)  psrliyp cupewews GoDES

(D) Ceverranr 2 pusderw ofsfss

(BE) e&fen Qsflweldena

91. The motto ‘One Tax, One Market, One Nation’ is associated with.

(A) Central tax
(B) Corporate tax

Goods and Services Tax (GST)
(D) State tax

(E) Answer not known

‘@Cr auf, 2Cr spens, @Gy pr@’ eremp GumanGlomfl TsgiLdr AsmLiiemLwg)
(A)  wsdu aiffl

B Hpoer af

(C)  sg8@ womid Ceaeu aufl (GST)

(D) wrfle euf |

(E) e Qsfluaideme
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92. Match the following type :

()
(b)
(c)
(d)

)
®)

)

(D)
()

Fiscal Policy

Monetary Policy

RBI

Credit Control

()
4
3
2
| i

®)
2)

4
il
2

(©)
1
1
3
4

1.
2
3.
4

(d)

LW =~ DN I

Answer not known

Issue of Currency Notes
Ratibning of Credit
Cash Reserve Ratio

Taxation

Aemal(Hh euenasemult QUT(HEES

(a)
(b)
()
G

(A)
(B)
(©)

(D)

(I)

blglé CameTeans

Uenredlwé Garearans

RBI

sLa SL(RLum

(a)

4
3
2
i

afleni_ GgMuiaferanen

CCSE1P/2024

(b)

3
4
il
7

(©)
1
1
3
4

i
2.

4.

(d)

L B N o

;r;érsmmg_‘r; srarsafier Caehuip
sL.ai AFGwrsD

Qrnés @i efldgwn

auifl gy
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93. Which of the following statements are true about the first five year plan?
(1) It wds focused on agriculture and irrigation to boost farm output.
- (11) It was based on the Harrod-Domar model with few modifications.
(iii) It was followed the Mahalanobis model.

(&) () only S () and (i) only
(C) (@ and (ii1) only . (D) @) and (111) only
(E) Answer not known '

e ghsran®s SlLsmsis upPl Geeumh EmppiseTd eTgl 2 aman ?
@) @Eﬂ@Ja:rru_l 2 pusdaon sifslss aﬁ]m&rrmm LoHmIth ﬁsrrurr&mg,@su SeuarLd

QegissiurLg).
() @z Ha vrprses_er enrCrr-GLmof wrdfew  SigluELLTES
ClamaisTLg,.

(i) =g wapreGarmley LM DeuHDLILLL ).

A) @ oLEn B) @, () v
(©) (@), (i) b @b (D) (i), (1ii) L@
(F) Moo GsfNwedcdena

94. Arrange the chronological order :
(1) Mitra Mela \
(2) Anu Shilan Samithi
(3) Indian Home Rule Society
(4) Hindustan Ghadar

VO D-@-03)-0) ® @-©3)-2 -1
© B)=@ L ©® D@ @-@-©®-O

(E) Answer not known
ﬁkpasm"n_a_l,rbsmﬂ) asrrcsu. @Jrﬂmﬁuu@\gg}&l:
1) Bsdy Guerr
(2)  <oiey Swar 5194
(3) @pdu saemf spsb
(4) afipgdvsrar ssi
@ bH-@-6)-@ B) @-3)-@-1)

SR 3Y— () (1)~ (2) D D-@-3)-1)
(E) ofen_ Qgfluefldana
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95. In 1947 Indian National Congress agreed for the partition, because

ey
(2)

(3)
(4)
@)
(B)
(€)

V)]
(E)

The principle of two-nation theory was then acceptable to them

It was imposed by the British Govt. and the congress was helpless
in this regard

They wanted to avoid lérge-scale communal riots

All the above reasons

(1) and (2)' are correct
(3) aﬁd (1) are correct

(3) only correct

all the above are correct

Answer not known

1947-6 @pdu Cofu smislyed 58 Gfed@arse Guius Qstam gl gQarade

(1) @ Ggss Camiun® Haisard qhpstarameniulL.g)
(2) Ofiges @qq&m fesllssiul Lg whHpd sradrdy @Qbs elegwsdln
> geflLHDg | |

(3)  eaisd Quiiiu Siareflarer el seeahismar sediss 6flpb et
(4)  Gopsmdu TS STTETRSEHD |

(A) (1) opgib (2) &l

B) (@) wpgid (1) o

©)  (3) br@Ew &f

(D) emanggid slwrerg)

(F) deor Qsflwelidana
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96. Arrange the following events in chronological erder .
(1) - Government of ‘Ipdia Act 1935
) Gand’hi-Irwin Pact
| (3) Communal Award

'(4)  Cripps Mission

@ M6,
® @, 0

VT ©.0,0,@
D) (3), @), (D), @)

() Answer not known

Geraupid Hlapaisener sraafosing QuESmDESLD :
(1) @pdu eifier scio - 1935

(2) sThEl-@faller @uUBSD

(3) . auguyans @ss&0

@ Ao g;n@&@j-@

@ 0,@,03,®

® 3, @, @, Q)

© @,0,10, @

D 3, @, D), ®
(B)  offerr QsfweNdana
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97. Which one of the following was proved to be an important assoclation 1n

Socio-Religious Movement in South India?
(A) Prarthana Samaj
(B) Arya Samaj
\)Z_( Theosophical Socigty
(D) Brahma Samaj

(E) Answer not known

Qeraimeuarepiler Gper QbSuraled sups 105 QuéssSED @ (PSEL SESDIS

Aep a1 Lg aT8l?

(A)  Ggriggen soTgLD '
(B) <=flu sorsmid

(C) QUL'DLD@IT@T- gsmu
(D) Gibw STy

(B) oo Gpflusidaa
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98. The National Civil Service Day is observed on
" (A) March 8
(B) dJanuary 7

(C) May 11

& April 21

(E) Answer not known

Cadlu @uanol uanflumeaniser Send erey epsfsastuGHpg

(A)  oris 8

- (B) et 7
(O AT
D) euge 21

() efe Gaflwaldame
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99.. In which session of Indian National Congress the Song, Jana Gana

Mana was First Sung?

(A) 1911 session at Mumbai
(B) 1911 session at Delhi

\@' 1911 session held at Calcutta
(D) 1911 session held at Bihar
(E) Answer not known

(PG @g,eurras “car sar wer eayb urLd @bHu Caflw smhdradlern

OTEIC e LIl LILLL gl ?

(A) 1911 @pens omBITLIged
(B) 1911 Qréved wmmiig.ed
(C) 1911 s@sgsm MBI _iG6
(D) 1911 Semt pABT 1960
(E) elen Ozflwefdena

100. Which of the following is not correctly matched?

(A) Dadabhai Naoroji ~— East India Association
\jzj' Savitri Bai Phule — Servants of India Society

(C) Surendranath Banerjee — Indian Association

(D) A.O. Hume — Indian National Congress

() Answer not known

YereumatareupBled ergy silwins Curpbgeddame ?

(A) srsmuml GparGrmed  ~  Apé@ BEH sHisD

(B)  smelgsM umi Lyl — @pdwureler sanfiuiir Fmish
(C) &Cypdly Brs uneritsll - @BSW FBISD

D) .. ablybd - Q@idw Cadlu srmdlyen

() oo Qsfweidena
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~ 101. According to Valluvar which one is compared to hand of one whose

102.

garment is loosened?

Friendship | i = (B) Baseness
(€) Renown - ‘ (D) Ewil friendship
(E) Answer not known : |

2 Déns Gbsear @sCurCe eeatugh@ adm@set asmar UGS DT
A) pey (B) swenwo

© usp | - D sy
(E) eflene Qsflweficrenas

Thirukkural has got ‘Quality of Religious Equity’
— The reason for this remark. | ;
()  Accepted by all religious people as theirs
(i) Accepted by both theists and atheists

(i) Kural is beyond race, caste, religio'n, sect.
(iv) Kural teaches all virtues to Mankind

(A) Q) 1s correct (B) (ii) is correct

~(0) (ii1) and (iv) are correct All the above correct

(E) Answer not known _

‘T pEBmen uary OsraTLg Smé@nar
— GTETUIMT SadmI&&s STrenTlD,
1) erebaoré FLWSSUMHD ES 6D B erenml Samib ApLOGUDHDSTED

(i)  sLeyer 2an® et LLEdEH @oma ELAED Laubs FHED
SpuyuCupngrd

(111) Garb, end, sowbd, Gy ToTHDHED SILUTHUL L STe

iv)  wafls QargApen Aungiaurer ausswn Siflaib <ifleopssiuPease

(A) (1) wrEn A _ : (B) (i) e @b &

(C) (iii) wpgud (v) &f’ (D) smasgn o
(E) e Qsfweldara | '
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103. Which of the following is/are wrongly paired?

(1)  Self Respect conference led by Annadurali -
(2) Bharathidasan entitled Annadurai |
as Arignar _ —
(3) Justice Party wasnamed as
Dravida Kazhagam -
(4) Black Shirt Resolution —

(&) (@ and (3 | & (3) and ()
(C) (4 and (2) (D) (3) and (1)
(E) - Answer not known'

SetreumUeeufdd geupmar GLmmBSsD 6Tl ?

(1)  samerrgienr soaaouies sw wilurams orprl —

(2) Lmydgreen e TgmrenL 2Bl @hiT erevt

UL D (@ iguig) =
(3) Bdssr 8 HyreliL spsb cram ClLwir

G UL g _ =

(4) smuy slel Siorend —

A)  (2) wpgud (3) (B) (3) wppid (4)
C€) ) wpgo (2) D) (3) wppid (1)
(F) oferr Qaflwelicrene :

Thuraiyur
Chennal

Erode
Salem

SIEnMHWLT
GlFeiTen et

Gy

Gaeuid

104. Who was the Chairman of the first Self Respect Conference in 19297

(A) E.V.R. Periyar
M W.P.A. Soundarapandian

(E) ~Answer not known

(B) Sathyamoorthy
(D) Ramasamy Raja

1929 penLQuUpH (PSS SWDMLITENS BT g 60 SHEDGUT WITI T ?

(A) Qe Quiflwm (B) ssweprsdl

(C) W.P.A. Qeerpglumaimig uien

(F) eafler Gsfiweildeme

CCSE1P/2024
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105. Match the following :

(a)

(b)
(©)
(d)

Temple Entry Authorisation
and Indemnity Act

Temple Authorisation Act
Self Respect Marriagés Act

Madras State abolition of Zamindari

system

@ ® © @

(A)
B
(©

w2 3

(E)

oo L
S P K|
S Ll A

i

Answer not known

Spsaeupen QLTGEES :

()
(b)
(c)
(d)

(&)
(B)
(©)
D)
(E)

SHOW FenLpay hmith @pUEL R F b
SO HIMPEF FLL D
FU RWTeNSS Sl(HLOITESET FLLLD

Qsenenar wramanr pBeT ity FLLID

(o) ®) () (D

B2 Aoy Mgl S
A o SR
3 tha g
Pl sl e i

eflen Csflweldana

65

R O

Annadurai
Rajaji

Omandurar

Kumarasamy Raja

DA GTERTITE 60

- @orgred

QLBSTTTT
@WryELSl ey
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106. Who among the following was the India’s first woman House Surgeon n
the Government Maternity and Ophthalmic Hospital?

(A) Rukmani Lakshmipathi \,685 .Muthulakshmi Ammaiyar

(C) Sargjini Naidu (D) Moovalur Ramamirdham

(E) Answer not known .
ﬂmm@mmmm@d) ors wsOCUR LHDDL S@T WHESHEID@ETLI® @bSHwraden
pse Cuem LD sipiees SdlFms Blujaui wmF?

‘(A) (méwantt @ giblugd (B) @5@@)@&& S{bEnLDWITT

() - sCrrdal pry® (D) epeugrit @rrnmiisid

) e QsAuscidena '

107. Which of the following statements are true about S. Ambujammal?

()  She joined the Non Cooperation Movement in 1920
(i) She was nominated to the Madras Legislative Council in 1926
(iii) She formed the Women’s Swadeshi League 1n Madras.

(A) () only \,eﬁﬁ"’(i) and (iii) only -

(C) (i) and (ii) only (D) (i1)-and (111) only

(E) Answer not known .

S. eibysiboner Lpdlui ereimHd sapgisaild ezl 2 e ?

@) @euit 1920-6 pLS gss@pLIED @UissHd sd@w Gaenssis Aerar i
(i) @it 1926-6 Quolyred sl L sl say@fl@sE Huwend Gauulul L
(ii)) @eurr Oaenaarude Guarser &Csf Quéssms o (Heirsdei.

(A) (@) @b (B) @) wppip (Q11) wLEWD

€) ) wppd (1) wLED ' (D) (ii) wpoid (111) wGHid

E) oo Opfuciime

CCSE1P/2024 66 oL

Click here to Visit >> www.govtjobsnet.com




108. Match the following :

(a) E.V.R Periyar 1. First Indian Judge
(b) T. Muthuswami' 2. Veeraraghavachari
(¢) Madras Mahajana Sabha 3. Puducherry
(d) . Bharathiyar 4. Kudi Arasu
@ ® © @
\,egf ks "2 3
0= G Ene e RER
(G2 8% T b
10) 1% IR 1 2
(E) Answer not known
Méreupelareupenn QUTBSES :
(8) m.Qeugr. QuAwmt 1. wsd Qpdu FHUE
d) . @r&,@ecrrﬂ l 2. dirrrseurgsn
(€) Quigmav wsrmar sLr 3. LgECsn
(d) urpdwmr . 4. @qurs -
@ ® © @
@ \N1: 2 3
@&\ 4 .3 g
16 S R
)8 G T, 02
(E) e Gsfuceame
a ) B v g CCSE1P/2024
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109. Why is Thirukkural called, ‘Ulaga Pothumarai’ (Universal Book of

Principles)? |

(A) Itis translated in many languages
(B) Many have written paraphrase
(C) It was composed 2000 years ago

o

(1)

It has principles common for all, irrespective of country, religion
and time

Answer not known

H(mE@DET ‘o @als AUIELO@D' 6raT S p&sUILLS STTERTLD WITE ?

(A)  Le Qumiseailo GQurfl Guurssiul Hereng
(B) v 2y erapd edrarari
(©) @Ueéun_rruﬁ{ljm (P EEHEE (par Camardhugl
D) Si@egs PrGaBAED, FOUSFUGHSD. STOSEDGD Grhbgsips
(E)  efeL. Gsfiweiaome
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110. Who is the poet for the verse “Pottruvaar Pottrattum...”?

(A)
(B)

Bharathiyar
Kavimani

\)ef Kannadasan

(D) Vairamuthu

(E)

Answer not known

“Cumbmieur GUITHDLHLD” eremp LITLaedl) LMig Ui Wimir?

(A)
(B)
(©)
D)
()

Lmrydlwim

gedlenf]

& 6U0T GIT BT F 60T
@IS

eflenL Qg,rﬂma&]ebmeu

111. The life line of Thirukkural is reverence for life towards all the living
beings on the earth. This idea was perpetrated because

Y
B)
©)

\m .

(E)

It insists that we should think of the suffering of others as our own
It insists that we not do to others what we think i1s bad

It insists that we never do any harm to others even if we think its
very small '

All the above
Answer not known

2 flé 2 6Tem ereven o ulitsemeriid wAsgu Guippisd (Reverence for life)
eueTEmeuSSler o WG BTg U@L ereenth &(BSs psHusgeald GuUpssTrenTd

(4)
(B)
(©)
D)
(E)

8 2 19iseT LOD geTUSmS ST GaTUinTss: S(hd BEs eueun s
@GirruLb ey gren iPlbsems Lorr_i)meur'ras@&a@é: QewwrdESse

Al Smw sTGen eremy eTemamt WMHS@SL erliGLirgLh ;%emm Qe nrdl(msse
CBLD;_Dase?mL Smardgiid

eflen Ggflweildae
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| e— than neermai kunrum thatindhthezhili
thaan nalkaathaaki vitin” — What reduces in the mention above
Thirukkural, by Thiruvalluvar?

(.... wealth will waste away except the cloud its stores repay)
(A)' Land plowing (B) Donation

J) Great sea | (D) Worship
(E)  Answer not known

...... sanbiein Gemib Siabg erbledl

snan pesnsrd efiger” — arerp Gnefle g @b e SpeuanEne sapEpri?
(A)  gfler spreeyi (B) snanb

(C) Op@Esd (D) L&t

(B) oo Qafusidme =

118. “....ivvirandum
kanenba vazhum uyirku” these two are the eyes of human beings”

Which of the following pair is compared to eyes of all human beings?

(A) Virtue and Wealth
(B) Impartiality and Self control
(C), Wealth and Love
\'Jﬁ) Numbers and Letters
() Answer not known

‘... @etelipemHitd |

samGananu ey puiisE

Cupsranib SHmsEnefiad e @raTaLs HEHUTERaT HEa@EhsEE @UUITGS
gamHlmmi ?

(A) é{ﬁ)(y}l_b Qum(penLD

(B) pOey flevembuid i &SIHL LD

(C) Gungsesd Gearuapib

(D)  ereiramid eT(pSGID

(F) efen. Qgflweiidama
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114. Which of the following is incorrectly paired?

oy
2)
3)
(4)

1

B)

©

D)
(E)

‘World Water Day ~  292»d March
World Environment Day —  22nd April
Earth Day ~ 5th June

' World Energy Conservation Day — 14t December
(2) and (3)

(1) and (3)
(3) and (45
(1) and (4)

Answer not known

érelmauareupied erg SeumTs @@m&sauul'_@gmr@j?

(1)
2)
(3)
(4)

(A) -

(B)
(©)
D)
()

260G SERTETT ﬁ]m‘m | ' —  LonE 22
2 W8 FHPFSPD Sarbd - gure 22
L0 Slamib —  eagoew

208 SHDS® LTSIy Serid —  g&bur 14
(2) wpgid (3)

(1) g (3)

(3) wppud (4)

(1) wogid (4)

eflenL. Qs flwelideamae
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115. The attitude of Rama to accept joy and sorrows equally is compared to a
flower by Kamban. Which is the flower?

(A) Jasmine
>

\-‘(E’) Lotus
(C) Lily
(D) Mullai

(E) Answer not known

(@) 6Tl gjeﬁrﬁgsmg; Qetprs gHmés GarerEnn @ymoafler e L&EGISMS CThS
DHEGS SLUIT @D delidpmi?

(A) waoedlans
(B) smoey
(C) el
(D)  pevene

(E) e Qsflweidens

116. Which is the excellent description of “Maruthanilam Nanda Villakam”
based on Chitrilakkiyam?

(A Ula
&) Palld
(C) Barani

(D) Pillai Tamail
(E) Answer not known

“Drshie BHaT elerssh’ aaé Aplidés’s GUDILD ApHlesHu auems

N
(B)  uwéres
(O wresfl

(D) lﬁ]meﬁ)mgglﬁg‘
(F)y oflenr QsMwcieraney
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117. Find out whose statement 1s this?

Like a bird that flies to a tree bearing fruit, I went to the broad palace of
Karikal’s court.

(A) Kapilar
Mudathamakanniyar

(C) Nedumkilliyar

(D) Alawanthar

(E) Answer not known’

wrmeLw Qerpeprii eerumss sfluns ABES0S.

“Lpriseer sl QaTaTHierer LgEismas sOPQb LP®EISET LUDbE 6UBeLS!
Cure pren Waayb Guflu sfsroafldr siramomen SwauESS GleenGmatr

(A)  sQerr

(B) @oLgsrossamantumT
(C) Operdearefurt’
(D) <ereubsTT

(E) ofer Qafluaiicrana

118. Which Pathupattu literature is also called as “Nenjatrupadai’?
(A) Kurunthogai ‘.

\jBf Mullaipaattu

(C) Sirupanaatrupadai
(D) Thirumurigaatrupadai
(E) Answer not known

‘QBEHETHMLLIEL eramanib Geumy Quuwit Qaraw. LSGLULTL(H I 6757
@) epposres

B) wodeouur @

(C) ApgumemmhHmiseL

D) HoepEsrdple

(B) efen Gafueidena
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119. Which one of the followirig statements is/are correct regarding the

Arikamedu excavation?

(1)
)
(3)
(4)

Arikamedu found at Tanjavur
It was a port under the Cholas
It has a trade relation with Rome

The Arikamedu Fort has close trading contact with

- Kaveripattanam, Alagankulam and Musiri

(A)
(B)

D)

(1), (2) are correct (3), (4) are incorrect
(1), (2), (3) are correct (4) is incorrect
(2), (3), (4) are correct (1) is incorrect

(1), (3), (4) are correct (2) is incorrect

(E) Answer not known

2fsaGo@ tgraddiue gueysalear smppseid Spaar._meseaia silureng erg?

(1)  <=fesCul sesereyT wreu L sdo SIDLDBHEIGTENS)
(2) @8 @@ Cenpiseidan sepipsis
(3)  Qsgiopepsid Combd preGuer eurarflu o pey Aamama GHEs)
(4) <oNssCul sopepsd  sTCaMNILL L emb, DIPSETGeTd WwHmib  apHd
BPPPELSEEL T pGREL aailss Asr iy Qeraimbss.
&) (1), @) sfwrarg (3), (4) gapreans
(B) (D), @), (3) sflwreng (4) seupreng
€ @, ), @) sfwrang (1) Lr-Gw> seuprens
D) @), 3), () sflwnengy (2) P sauprans
(E) oo Qsfuicierena
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120. The temple for “Kannagi” was constructed by

(A) Karikalan : \ﬂ?f Senguttuvan
(C) Ugraperuvazhudhi ‘ (D) Nediyon
(E) Answer not known

‘&R &G ——— o Corlled slLOulLgl.
(A)  sAsTeen ' (B) Qe Heusn
(0)  esrQu@meupd (D) QpyCuime

(E) efer Qsflweildame

121. The Uttiramerur inscription reveals
(1) Village Administration
(2) Written Cc_)nstitution |
(3) Perfect Electoral System
(4) Paranthaka Administration

(A) (1) only - - ®B) (1), (2), (8) only
©) (D, @) only ) All the above

(E‘-) Answer not known

2 SHTCuenr ascb@m.u;@as@* Qs flaf ey

(1) Agro Breunshd

(2) ewsuulL rflud ey

(8) wpyewwrer Csisd WD

(4) urrhgseian Hiraursid .

A (1) wiEw - B) (1), (2), (3) LB
C) (1), (2) B _ (D) Cuhendiu enandgid
(E) . el Gafweiierena

o 4 75 -+ CCSE1P/2024
" [Turn over

Click here to Visit >> www.govtjobsnet.com




122. Which of the following statements are true about the Chief Minister’s

Breakfast Scheme?

(1) This scheme has been started by the Tamil Nadu state

2 It will be implemented in all the Higher Secondary School students

in the state of Tamil Nadu

(3) This scheme is the first of its kind in Tamil Nadu

Choose the correct answer from the options given below :

(A)
(B)

vol

(D)
(E)

(1) and (2) only
(2) and (3) only
(1) and (3) only
(1), (2) and (3)

Answer not known

(paoawssilar st 2ae] Hisgas’ uphl GQaermpd  Msmasmarnt

&E6IT U MR HET.

(1) @Qbss b sflipsssred Qsrrms i g

2) @8 slpssde seer omasg Coaflen udell  wraTeTsEESSsTS

CEwdURSSILIHIH

(3) @bs b priigCatu SEIPHT I4d (PSDH APeDIITED
&G Wer@ssuu e @il et LwauRsSH slurar LSoo CaibOsHEse6 b,

(A) (1) wpmid (2) G
(B)  (2) wpmid (3) G
(©) (D) wpmd (3) LG
D) D, @) wppw (3)

() e Gsflueloame
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123.

124.

The total number of river basins in Tamil Nadu

L (B) 18
(O 119 D) 16

(E) Answer not known

SIOPHTLIged 2 arer <uHyliLHianaseren GraRTem 6N -
A 17 : ‘ (B) 18

@y -4 D) 16

(E) ol Qsflualicrene

Match the following :

() Bauxite 1. Salem

(b) Gypsum 2. Servaroy hills

(¢) Iron 3. Coimbatore

(d) Limestone 4. Tiruchirappalll

(@l M) - e ()

7. % B AR R

B) 1 2 3 4

e 2 4 ] 1

D) 2 i 3.0 gy

(E) Answer not known

gilwurs QuUTBHSSS :

(a) ursenel 1. Gsab

() Husw 2.  Gafreupmue wene

(c) ‘@@Lbl_j 3. GarwuibLsgnt

(d) & @TETTID L&D 4. HmpeflyroLeretd
@ e @

A 2 4 1 3

(B) 1 2 3 4

(@2 4 ke 1

(s 22 1 3 4

(E) ol OzMueioama
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125. Which of the following is correctly paired?

(1) AIIMS  — Al India Institute of Medieal Sciences
2) ICCW — International Council for Child Welfare
(3) NIPCCD - National Institute of Public Cooperation and Child
Development
- (4) ICDS — Institute of Child Development Service

(A) (1) and (2) are correct

v(d’f{ (1) and (3) are correct

(C) (2) and (3) are correct
(D) (3) and (4) are correct
(E) Answer not known

EipsereupmieT ergl sNwine QuImEsIILL Haters 2

(1) AIIMS = - sfo @su vEsse ofledue Hpeed

(2) ICCW — @95@@5& Baa@issTan FieuCes el

(3) NIPCCD — Gsfu Ourg gsgopiy wipb @pb@ssst Gobur
Blpieuend

(4) ICDS — Gub@gsdr Guobur (g S L Hpeuetd

@) (1) wpgid (2) sflunarg

(B) (1) wpgud (3) shurens,

©)  (2) womd (3) efuirarg

D) (3) wpmd (4) sfwirarg

(E) &le GpNwefdame
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126. TICEL is associafed with
(1) Rubber Park
(2) Textile Park
(3) Food park
(4) Bio park
@ @,

® @,
© 3), @

JBT @

(E) Answer not known

TICEL @sCam® Gsm e wal
(1), @gouf whsn
(2) geyell yrsr
& () 9..6‘0‘0‘!‘@4' LBI&T
(4). 2.9 yrsr
A (@, 3
L (BN, (3)
G 6),@

D) @
(E) ofenr Qafwefcdrena
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127. Arrange the following in the chronological order :

(1) Skills acquisition and knowledgé awareness for livelihood promotion

(2) Make in India

. (8) Tamil Nadu Corporation for Development of Women

(4) National skill Development Mission

N
B)
©
D)

(E)

s

3), 2, @, (1)
3), (1), @, @)

3), @), @), Q)

4, 2, (3), Q)

Answer not known

Qerenmenareupeny sreelfllansliLig @(PRIS@SSD.

(1) eurpeurgmy  Cuibum gharar  Sparsmers  Gupigd

Al AILLjemrirey

(2) @oPwreiledr swnt Geiis

(8) sLETE Quemasr GubLTL B p,aaRTUILD

(4) Gsélw Hpent Gobui G St b

. 2
(B)
©)
(D)
(E)

(3), (2, (4, (1)
(3), (), (), (2)
(3), (4), (2), (1)
4, (2), 3), (1)
AL Gflucidoma
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128. Identify the emergency care scheme 2021 introduced in Tamil Nadu

(A) Makkalai Thedi Maruthuvam S;:heme 2021
| \)B’( Nammai Kakkum '48 Scheme 2021
© Athikadavu Avinashi Scheme 2021
. (D) Accident Relief Scheme 2021

(E) Answer not known

sllpssHd geussiulL Seusreme Urgstiy Gsrdamsawu 2021 @ wmerd

SITCHTS:.

(A)  wésemars Csly WHSFeuD b 2021
(B) poew arsEhd 48 Sl 2021
(C) <flsre <efprd Sriib 2021

D) efugs feaurramgdb 2021

(B) e Qs Ll
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129. ‘Free and comtpulsory education to all children of the age of 6 to 14 years
in such manner as the State may, by law, determine’ through

Constitutional Amendment Act.

A) 73
JB‘) 86t
(€) 72m
D) 80w

(E) Answer not known

slLmub  wind Qeassded @aiss 6 wsd 14 awg ey o dras
GREDEHEHEG FLLUYTIONSE Sirs  euphs CeuamBbd erer  Hlifeawrwomeg

sLLSEBEBEEET (p@TGD.

(AY -
(B) 862
(©) R
(D) 80"

(E) &l GsfNuaieenc
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130.. Which are the constitutional provisions for the protection of other
backward classes (OBCs)?
(1) Article 15 (4)
(2) . Article 16 (4)
(3) Article 17 (1)
(4) Article 19 (2)

(A) (1) and (é) are correct (B) (1) and (4) are correct
\,(;Gr (1) and (2) are correct (D) (2) and (3) are correct
(E) Answer not known _ :
9y Apu@ssuuLL aigudaar (OBC) urgsmudparer wiréweenriy efdser
wreney ? dls N ' .
(1)  fsryd eraw 15 (4)
(2) dfamyb erew 16 (4)
(3) <=daryb eram 17 (1)
4y =faryd eraw 19 (2)

A) (1) womb (3) sflwnarg (B) (1) wpmid (4) sflwuneng
©C) Q) vppw (2) swrearg (D) (2) womb (3) sMwrearg
(B)  efler GzAwelldenad | :

131. Protection of women from Domestic Violence Act, 2005, protection to
women to ‘live in violence free home’. Though this act has civil and
criminal provisions, it also enables a women to get immediate civil

remedies within days.
(A). 40 days (B) 50 days

60 days - (D) 65 days.
(E) Answer not known -

GO bU adarweanie Qmbs Cuarsoa urgsrsgh slib 2005, Quarsends
“auempepl@dar eumpeuspanar LrgsTiL. Bbss sl Sdld Aelled wpmib Hiflblere
Afgdr  @mbsraud @& CQuanser oLeng Aol Sreyseert  Gup
———— Brisdr LLHD 2 5a Hng.

(A) 40 priser : (B) 50 pmaer

(C) 60 priser ; (D). 65 priger

(E) e QsMweidena
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132. Pension scheme for destitute Transgenders who are above ———years has
been implemented in Tamil Nadu, where is Rs. 1,000 is paid as monthly

pension.
@& 39 W) 40
(C) 50 (D) 60

(E) Answer not known

awgdE GoHulL srebn Srphamssensatar @uapdus Sl
slpasdle CFuau@SsiLL( SeuiseErsds . 1,000 wrswrs aphislhSng.
(A) 39 (B) 40
(C) 50 (D) 60
(E) dev QgMweidena

133. Who is certified as, “Socrates of South Asia” by UNESCO, a unit
organization of United Nations? '

(A) Arignar Anna (B) Karmaverar Kamarajar

(C) Rajaji \J#) E.V. Ramasamy

(E) Answer not known

oA prhser  weapsdar  Blpeuerorar ‘yQaredvCGar  @enwliSarme
“OeendlipsE gpflwureller sréresn” erenm smemmelEsliLIL L Senaeur Wi ?

(A)  desiT iaremrm (B) srweiyr srwrrgt

(C) @umegred (D) w.Qeu. @omosm
() &fler Qsfweleena

134. The government of Tamil Nadu launched its startup policy in
(A) 2016 ' (B) 2017
2018 (D) 2019
(E) Answer not known
8L BrH e Ussmblea Cardrasmu palpapliusiu amd
(A) 2016 (B) 2017
(C) 2018 (D) 2019
(E) &fler Qzfluelerened
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135. Assertion [A] : Periyar left the Congress Party and started Self

Respect Movement in 1925.

Reason [R] . Periyar visited a school of Gurukulam style run at

(A) [A]is true, [R] is false :
(B) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(C) [A]is false, [R] is true
\}Ef Both [A] and [R] are true and [R] is the correct explanation
of [A]
(E) Answer not known
sm55 [A] c Quflunt smadrey sl faw LG QeualiCGud, 1925-gyb
. e swuwlurms Quassass CeTLkdermi.
smyemd [R] . CeperonCselle GmEe Sa@oudd peLtupn @
Lerefld@y Quilung eflsguib Qauigmi. i@ ErToernt
oremaliseT  WwHmb  RTTDETTOOTS  LOTERTEL TEH @RS SS
Gas@h s, cameiBpEd LD sealgseafiiGw
Bmiumss SEHTL_ITH. BT Ligotl serfled
QArroarraarsaisErsss sal @asdd ephs LEsTET
ETEEVTE Wige| OEUSTT. TR  SHIHES <Sjeniodl
LDISSLILIL L.
(A) [A] &f, [R] wiGw seum
B) [A] vppw [R] @ran@o &f, e [R] [A] alpsrar eflwmar cHerésd
ey
©  [Al o [R] oG of ‘
M) [A] wpmw [R] @rew@n s wpgd [A] elpasrer [R] sfwrer cHleTéaLd
B

Sheranmadevi, he noticed the segregation of
Non-Brahmins students from the Brahmins by
providing drinking water and food in separate
places. He moved a resolution for reservation in
government services for non-Brahmins. But this
was not allowed.

eflen Ggfluefdea
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137.

2 3 2
136, (963 +476)° + (963 —476) _9

(963 x 963 + 476 x 476)
(A) 1449 (B) 497

e 2 D) 4

(E) Answer not known

(963+476)" +(963-476)*

(963x 963+ 476x476)
(A) 1449 - (B) 497
(O ~-2 | D) 4

(B) e Gsfwalorens

Inan AP

‘Which one of the following 1s false?

(A.) t25 =0
B)  tyg, tag, t3g, L4y form an AP

(C) If ny +ngy =50 then Ey, tty, =0
V(Zﬂ If d is positive, a is also positive

(E) Answer not known

Iog +igy +log +.o.tlyg =0 ear  @m &l (0 CQzrifeo
HeramauaTaIDPICT GTEl SeUDTang) ?

(A) b5 =0

(C) ny+ny =50 erefld t, +t, =0

(D) d das aailed a ayb Wems <@b

(E) e Qesfueldama
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138.

1.3

In a class of 35 students Kamal is placed seventh from the bottom
whereas Suresh is placed ninth from the top. Ramesh is placed exactly in
between the two. What is Kamal’s position from Ramesh? |

A 9 10

’ (€)= 10 D) 13

(E) Answer not known

@B au@Uled 35 wraneitser 2 dratant. S0\ mpE sarsf@LCLTE S0 U
gpreug @Lsded o derms, G Qopa sasdn Gurg &#Crey erameu
paTUSTOIE QL FHld eodrammi. gGuey eretuat  @euadmarmaEh @Gm_u_fﬂsu
2 arermir. 7Gay 2 L6 @UAGL Cug Lo 6Tis @L s o erarm?

A 9 : (B) 10

(C) 11 (D) 13

(E) &fer. Qsfwefdvanad

What is the probability of getting a prime number as a sum from two
throws of a dice?

s Hig | 13
YR ® —

15 ‘ 17
N | ® =
36 36

(E) Answer not known

A oD R UsoL o BLLLIUGD CuUg &mES0TSs LsT e HevLss Hepsse
GTEHE ?

7 13

(A) e | (B) or
15 1%
© > D) e

(E) eflerr QsMwedcrena
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140. The radius of a circle is increased so that its circumference is increased

by 5%. Find the perc‘entagel of increase in its area.

qgﬁ' 10.25% (B) 10%

©) 55% ° . D) 25%

(E) Answer not known

QM eI LSHdT roTaTg, As@I@LL SEHDETED 5% ofefagh iatellh
o WTlpg eTefed, Sjelaul LHer LTLILETe] aTEsman s56150 AHSMEGSLD ?

(A) 10.25% (B) 10%

(C) b5.5% (D) 25%

(B) e Qsflweldera

141. The diagonal of a cubic room is 11+/3 feet. Find the volume of it.

(A) 399343 cu.feet (B) 2178 cu.feet

(C) 217843 cu.feet \}E{1381 cu.feet

. (E) Answer not known

114/3 Sy Berapen i epenaeil L b Clarer. gp sar ST AdDULET Fe j6TE

GTGOTENT 7
(A) 399343 s.=iq (B) 2178 &.4
(C) 21783 s.=1q (D) 1331 &.i15

(E) e&lenr Gasfweidmen
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142.

Certain type of bacteria grows 5% in first hour and decreases in number
by 12% in second hour and grows 10% in third hour. Initially

20000 bacteria were present. Find the number of bacteria after 3 hours.

W 20828 . (B) 25872

143.

(C) 10164 (D) 12936

(E) Answer not known .

a@ eaesurer urseflur (pseoTalz @0 et Cprsdled 5%' sueTiESluib,
@remreugl warfl Corsse 12% euariédls @andlu, @Gtr,mrfsugj wenfl Corsse
10% auariéfluh Si@Ldpg. QsTéssHd g aamamiisms 20000 <=
Qbssl mafled apanm wan CrrsdpEL DG Sisen crananiSameamié SIS,

&) 20328 (B) 25872

(C)y 10164 | . (D) 12936

(E) e&fev QsMweidame

Find the amount to be received after 2 years 6 months at the rate of

5% p.a. of Simple Interest on a sum Rs. 6,400
(A) 800 ' BT 7,200
(C) - 640 (D) 7,040

(E) Answer not known

a@oLraiipE 5% sal ey issHer 2 @Gﬁ&@&;m 68 wrssHbHE
e5. 6,400 eflammed QupLiL@ELD Qgrens eremen ?

&) 800 | (B) 7,200

(C) 640 (D) 7,040

(E) eflenr- Qsflweiidema
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144. The maximum speed of the Elephant is 20 km/hr, the Lion is 80 km/hr
and the Cheetah is 100 km/hr. Find the ratio of the speed and find which
ratio is the least one.

(A) The Elephant and the Lion
(B) The Lion and the Cheetah

- The Elephant and the Cheetah
(D)  The Lion and the Elephant

(E) Answer not known

wrepanufler oiflsena; Geusind 20 &..8. /e, frisgddr Cousd 80 £.8./wenfl,

Spisamsufen Gausd 100 £.8./wenf. 2iger Causmisailar cldlghsmar sam® obs
g ANwg eren sramrs.

(A)  wrear wHpid Hissd
(B)  fuab wogw Ansms
C)  wreer wHmD Ayigens
D)  Srsd wpmbd wremar
(E)  eflev Qgfieferenay

145. The traffic lights at three different road crossings change after evei'y
48 sec, 72 sec and 108 sec respectively. If they all change simultaneously
at 8:20:00 hours. Then at what time will they again change

simultaneously? ‘
\y(f 8:27:12 hrs (B) 8:36: 42 hrs
(C) 9:02:00 hrs (D) 9:27: 36 hrs

(1) Answer not known

epeim QererGeun srene sEHUILGSeND 2 drer Curseeaurss OIS @ Aas@asr
pa@pbu gaildainmg 48 of, 72 of, 108 efprgsaio LIHOD et e epemm; .
spELyssafier o erer aflers@aEnn Gy sowgdd 8:20:00 vafég wrpmb
Sl flapar eraflle), 2BEs aparn e Bevanig) WIHHD Loz eriGuimg »
(A) 8:27:12 werf (B) 8:36:42 pewf

(C) 9:02: 00 wam (D) 9:27: 36 wad

(B}  &fer Gpflweferency
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146. Find the greatest number which on dividing 1657 and 2037 leaves

remainders 6 and 5 respectively

95 | (B) 381 -

(A)
| \ya( 127. D) 254

(E) Answer not known

1657 wpmb 2037 du aamsmer aiGsEh Curg (pepGu 6 LHQIL 5 SHenws
576 Sulqul s Quifly ereior 6Tl ?,

A) 95 (B) 381

(C) 127 . (D) 254

(E) ofler Qsfweflcraney

147. The greatest number which can divide 1356, 1868 and 2764 having the

same remainder 12 in each case is ————7?
e 6 | B) 124
(C) 156 (D) 260

(E) Answer not known

1356, 1868 wpmibd 2764 gdu aarsmer aiGses Fmigw Uil e B8 12
S &G0 arafle) SIS GTERT GrEIeUTS BHSGID? |

(A) 64 ' (B) 124

@) ™ 1156E - D) 260

(B) &fe Osflweiaeme
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148. A water heater is sold by a trader for Rs. 10,502 inéluding_ GST at 18%.
Find the GST amount. |

A4) Rs. 1,802 \;B( Rs. 1,602
(©) Rs. 1,620 . (D) Rs. 1,820

(E) Answer not known

awellsr el on sarat Qerdsomar 18% srsg woppid Cemen aflyLar
Goiigg . 10,502-8@ Appri. samafs Qerdsoafear syEg wpmb Cemeu

C euilaniig &irets
" (A)  ¢m. 1,802 (B) ¢5. 1,602
C) . 1,620 D) em. 1,820

(E) e Qsfluefdeana

149. The principle of transformer is :
(A)  Self induction & Mutual induction
(C) Lenzlaw. (D) Fleming’s Right hand Rule

(E) Answer not known

WBerorhiluien s&gieub <p6ig
(A)  san Hergmem e (B) uflwrhmy Wergmam_e |
(C) Qeenev A4 , D) IS]QQTLDLSFEJ‘ alag s oild

(E) el Qsflweldmena
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150.

The work done in moving a positive charge on an equipotential surface 1s
(i) Finite

(ii) Positive

(1i1) Negative

(Gv) Zero
(A) @) and (i) only
(iv) only

(C) (@) and (ii1) only

(D) (1) only

(E) Answer not known

g Ber st LrlQer Bz @ Cpi War@rlLsms psisss Q&muuu@w
Ceuenauler w iy

(1) eequpdsiul L bFULTED

©L ()  Cpred Qeramig

151.

(i) edHieh Cararg
(1V) | SLOLIMELD

A) @ opmod (1) L
B) (@v) wrpb .
©) @ wppw (1) wLLED
(D) (i) wr@Eb

(E) &feni Qsfluefcame

The approach of learning and reasoning from “general concepts to
detailed faces” is called

(A) Inductive Learning \ﬁﬁ’ Deductive Learning
(C) Logical Learning (D) Affirmative Learning
(E) Answer not known

Qurgleurens  sHSHweded wH @gﬁ]uurretrr sHSHUNESE Cedgibd asmmcﬁleﬁr
aufpepunars @iy ApsalLGEaTDg? | _

U B a0 B) goudud spos
(C) sirss fHlerars sHpd (D) e Lerur_rers sHoDd
(E) &e Qsfueidana
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1562. Conceptual learning lays emphasis on :

(1) making interdisciplinary connections
(11) recalling concepts
(iii) applying knowledge in new situations
(iv) integrated application of key principles
(A) () and (i) only o (B) (i1) and (ii1) only |
(Cy (1), (31) and (i11) only \,ﬁffj’ (1), (111) and (iv) only
(E) Answer not known
HESEHUD EHPS ————— adlynssdpg.
1) uoGeuy giwpaerddaL Cu GlamenliGener
(1)  smesissmen Hlanarey Fnisamay
(i11) flelamer gF Gald LLETLRSSS®®
v)  @sdu Camur@saier mhdmarhs LILIGTLITL g ear
(A) (@) whgd (i1) wi Eib (B) (ii) womb (i) wr o
(C) @, (1) wpmid (111) wL G (D) @), (ii1) whpp 1v) I Gib
() e QasMeilerana ‘

153. Skepticism means

(A)
(B)
(€)

N

(E)

Unbiased attitude of an individual

It is an appeal to simplicity

The preference for scientific explanation

The belief that nothing is final and permanent alternatives are
available and there is always a scope for innovation and finding
something new

Answer not known

S|EHEHTATEUTSELD GTETLIGI

(A)  em saflipuflar urTuLsLHD SEDIGW®D
(B) @8 en aallewvwurar CeusrhCaner
(C) <oflellwe Narsssdparar (penafaio
(D) ergieyd @mdlwimesg <jsa ey pbIAGmES WHIID BFbESTLOTEN WIHD eul&eT
QaneaT Liglennésres Lidweneupenn samBlligliLghsrer eumilfiL] o ¢TeTene.
(E)  e&flen Qsfwueldeame
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154. Which is also called as Triptane?

w

(A) 2,4, 6— Trimethyl Benzene
(B) 2,2,4— Trimethyl Pentane
\/GC{ 2,2,3- ITrimethyl Butane
D) 1,2, 3— Trimethyl Butane
(E) Answer not known
eg 4 NUCLén eraa|b SanpsslBEng ?
(A) 2,4, 6—geyQusdd Quensar
By 422, {-L— p@rawsdd GuearGLar
©) 2,2 3— qeor@iosdé Gy Clen
D) 1,2, 3-garGusdée Qur CLer
(E) efleni Qg,ﬁlu@ﬂsbémsu

155. Among the following, which will have highest dissociation constant
(ka) value? : '

A) HCIO
B HBrO
(C) HIO

@7 HCIOs

(E) Answer not known .

Spserapb sflonseld sifs Aas wrhdl (ka) QsrarL suabd agl?
&) HCIO

(B) HBrO

(C) HIO

(D) HCIOs

(E) eflenr Qgfweiidvens
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156. Arrange the following Sustainable Development Goals by UNO :

(1) Zero Hunger

(2) Good Health

(8) No Poveri;y

(4 Quality Education

@ M, @, ©), @
B) (3), (@, D), @
S @), (), @), @
D) (1), 3), @, @

(E) Answer not known

257 sou afl@siusdu  aarGanT  eueTTESS @@éaéa;nmassmm sflwims

afleaiLHSSIS :

(1) ufberenid -

@ poanpe

(3) aumewuldramio
(4) sywrer sdel
A 1),2),03), @
® ©), @), 0, @
©) 3),Q), @), 4

O @, (), @, @
(E) el Gzfluelidane
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157. Match the following type :

(a) SLP
(b) GAI.
(¢) DL

(d) NCAI

@ O

T
B) 3
©) 2

v

(E) Answer not known

4
4
4
4

(c) .

3
2
1
il

Il
2
3.
4

(d)

b G2 = B

Qereumevaraupenn QUmBSE

(a) e eréd 9

©) & Gf‘é
©) g ao

(d) eran & g g

(@ )

A 1
@) 3
©C) 2
®) 3

(E) oflen_ GzfNwefdvana .

4
4
4
4

(©)

3
2
1
i

1.
2

Y.
i,

(d)

b W b

Deep Learning
National Centre on Al
Sta,tistiéal Language Processing

Generative Artificial Intelligence

b5 HHOD
Al @& Gsolw anwownd
yeraft efleuy Guomgfl QswerEsD

o peumE@LD GFuhans mHiewrarT ey
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158. Match the following :
(a) Dr. Ambedkar Award
(b) Thanthai Periyar Award
(c) Kamarajar Award

(d) Tamil Thendral Thiru.V.K. Award

& O © @
(A) 3 2 1 4
® 4 1 3 2
(C) 4 3 2 1
(D) 3 2 4 1
(E) Answer not known
QUITEEHS :
(@) Lrsiir. oupGussnt elmg)
(b) spens Quiluni g
(¢) smormyit alms
(d) sips Agamme Awm.ei.5 o ns

@ ® @© @
(A) 3 2 1 4
B) 4 1 3 2

4 3 2 |
(D) 3 2 4 1

(E) eflevr Qgflwefdene

S. Jeyaseela Stephen
U. Balaraman

Suba. Veera Pandivan
P. Sanmugam

1. aev. Qeguwiferr dvie Lig
2. o. ueymer

3.  &u. &y Lmabig wier

4,

QLr. FeiT(LpsLb

159. Who is the author of the book “The Romance of Salt” which is mentioned

about Gandhiji’s Thandi March?

(A)
©)
(E)

STl Fairiq HenL LTSS L]
er(pdlwaeur wimir ?

(A) el sCarlaim

(C) erer.Cs. A

(E)  ofeL QsMusefaane

Anil Kakodkar
N.K. Singh
Answer not known

CCSE1P/2024

\A Anil Tharkar
(D) M.S. Swaminathan

vpBlw “The Romance of Salt” eremp mrene

(B) siafier grirsr
(D) erib.erav. seumslpraen
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160. Storm in UAE :

Assertion [A] : United Arab Emirates faced a severe thunder storm,

brought one of the heaviest rainfall on record.

- Reason [R] : Causes for the heavy rainfall is due to trade winds and

v

(B)

©

D)

(E)

waves.

[A] is true, but [R] is false

Both [A] and [R] are true, and [R] is the correct explanatioh
of [A]

[A] is false, but [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

Answer not known

g;é;éhu =iy erbGrlelled Luwe :

sapm [A] : DEEW Ty IGTLIS]@U'I'_GfD SR Eigl|L 6l Snigll LDENPEw) erdlir

QsrarL_g|.

srgemd [R] 1 uovgs wavpsster sryehiser euisss ErHy OHIHD HAMQSET.

(&)
(B)

©
(D)

(B)

[A] sflwrengy, sparma [R] seum

[A] wogio [R] @ren@w &7, wpmw [R] eaug [A]l opE sfwre
efleTésib

[A] seum, parmed [R] &l

[A] wpp [R] Qrem@n sfl weard [R] aaug  [A] dpe sfwren

SleTHE LD

eflen Ggflweicdrena
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161. The bird that was affected by an oil spill in Kosasthalaiyar in December

2023,
A Spot-billed Pelican (B) Flamingo
(C) Macaw (D) Pigeon

(E) Answer not known

2023, webufle Qsredsmowrhiled ghulL  eaarCari sfeurd  Wseyb
UGS L Lipena ?

(A)  eoum -19e0@H Quedlaen (B) < QerfmiCam

(C) waésr (D) yor

(B) &fer Osfueidama

162. Choose the right match among the following : /

(1) Mars — Mangalyan
(2) Pinatubo —  Volcano in Japan
(3) Crust — Inner layer
(49) Ganymede —  Saturn’s moon
M (1) alone 1s correct (B) (1) and (2) are correct

(C) (1), (2) and (3) are correct (D) All are correct

(F) Answer not known

SpaearLcupmier sfwrer QUTmsssms Caie) el :

(1) Qscueumis — DRSO

(2)  QerHGum - suumefler erflwame

(3)  Erev@ - 2 SIDS5G

@)  sreldE _ safllien Saey

A) (1) wieb shwrarg B) (1) vpmb (2) swrenenes

(©) (1), @) vpgw (3) sfuraewes (D) owarggud &M
() efen Qafweeranay '
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163. Choose the right matches among type :

(1)
)
3)
(4)

]
(C)
(B)

Hydrogen

Biogas

Solar energy
Geothermal energy

(1)-and (3) are ¢orrect
(2) and (3) are correct
Answer not known

Alternative energy

From Non-degradable waste
Water heating

Wind speed and direction

(B) (1) and (2) are correct
(D) (3) and (4) are correct

gflwrer euamsuleoner Gurmsssams Caie| Ceils

- (D
@)
3)
(4)
(A)
©
(E)

&)U LT e 60T

o uffreumyy’

& Do

efl Qe yhmed

(1) wpmbd (3) sfwrarg
(2) whpmid (3) sfwmang
AL Azfueddana

1

LOTHDI pDHOD :
w&sTs slesallel(mhg AupliuEns)
BT @LTéE560
srhdlenr Geusd wHmD Hene
B) (V) wppib (2) sNwurerg
D) (3) vpmd (4) efwneng

164. The abundant growth of algae in water reservoirs is due to

v
()
(©)
®)
®

Eutrophication
Thermal pollution
Bio magnification
Radioactive pollution
Answer not known

Biflenasafles siLfigwrer (oGs) LMl euemi&sl srarliL@eugheTar STyaTLD

A)
®)
©
D)

®

wi CrmiCaagem
Geultl TS

2 Wit 2. (HLCLIB&ESLD

ésﬁrﬂma’saa DT

ellen QgMwelldens
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165. In India, Dafla prib'e is found in

(A) Tripura ' (B) Assam
W& Arunachal Pradesh (D) Sikkim
(E) Answer not known

LsLieom uphi@yWent @pdlwimeller erig sramiiu@asmpert 2

(4) B (B) iavenms
(C)  sipanrearndyGssb (D) s
(E) efarr Qsfualiena

166. India’s population census system was started during the year

(A) 1881 (B) 1861 THISQUESTION AND ANSWER ARE TO BE PLACED BEFORE
(C) 1851 (D) 1871 ~THE EXPERT COMMITTEE FOR FINAL DECISION

(F) Answer not known

@pdwreiler asaTEgTsE samsaBiiL CsTrkisli L 6

@) 1881 (B) 1861
(Cy 1851 (D) 1871
- (BE)  ofler. Qsflwefcrana

167. The term “Operation Flood” is related to which of the following products? |

& Milk Production  (B) Fish Production
(C) Apiculture (D) Alga culture
(E) - Answer not known

“QeucTer pLeulqdbans” eremp QFTReTagl cregll-6 GEmLirjenL wg ?

(A)  ure 2 pLss _ (B) BSéir 2 pugd
(C) GCsa' everiiiy - (D) <pevsr euariiiy
(E) el Qsfluselerena
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168. Krishna Devarayabelongs to dynasty of the Vijayanagar Empire.
(A) Aravidu .
(B) Saluva
(C) Sangama

V(EY Tuluva

(E) Answer not known

SHweyem Caaurmuir eflQu pSTL Guirller ————— QT QbES®S G&ﬁﬁ,gmﬁ
(A =irel(
(B) sgqueur

@)% FRGLO
(D)  siepeT
(E) oo Qsfwaidene

169. The great religious thinker and philosopher Shankaracharya was born
in '

. \Aﬁr Kaladi, Kerala

(B) Kanchipuram, Tamilnadu
(C) Kasi, Uttarpradesh

(D) Kolkatta, West Bengal
(E) Answer not known

fAppbs WsABS@ETLTET(HLD, gggjm@waﬂumnm grusyreenflor Goss @)L 1b
(A)  smew, Cayerr

(B) argsflymd, sWpBTH

(C) sré, e 58mArCaed

(D) sosssm, GheE umaTard

(E) ofenL Gsflueclicrena
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170. Choose the right matches among the following :

(1) Vedanta — Fountain Head of Indian philosophy
(2) Brahmanas -~ Musical Hymns

(3) Rigveda —  Gayatri mantra -

(4) Puranas —  Upanishad

(A) (1) and (4) are correct (B) (3) and (4) are correct
(C) (2) and (1) are correct \J(Hf (1) and (3) are correct

(E) . Answer not known
& @I Bu@uenite sflurear Qugrdssoss Csia] Celis

(1) Gogmbgn -  @pBu shmesBar SLLDL

(2) YGpmrwewTme - @evslimie

(3) A& Caug - srwsil wrSribd

(4) yrrewrser - ouflews ‘

A @ opow (4 s B) (3) wpgid (4) &
©) (2 opgo (1) sfl D) (1) wpgid (3) &

(E) e Ggfwelcrana

171. Arrange the following as per the year of establishment in the

chronological order :

) THIS QUESTION AND ANSWER ARE TO BE PLACED BEFORE
(1) Sangeet Natak Akademi THE EXPERT COMMITTEE FOR FINAL DECISION

(2) Kalakshetra Foundation
(3) Lalit Kala Academy
(4) National School of Drama

@ 1), 2),0),®
©) 4,3, 2), 1) (D) ), 4,3, D)
(E) Answer not known

Yeearmeuameudeann Srevaliflenglitiyg. (papLilHEgIs |

(1)  emés pris sismid

(2)  sorCagsHrm @upwbd

(3) wds sor sET_L

(4) Croagamd Gosme et g qTom ‘

4 (1), 2),3), @) (B) (@), (3), 4), (1)
© @, 3,2,0 (D) @), 4), 3), (1)
() e GQaflusiaame :
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172. Match the following -

A.D. 1563
A.D. 1564
A.D. 1562
A.D. 1560

(a) Abolition of Jiziya
(b) Abolition of Pilgrimage tax
(©) Abolition of enslaving war prisoners

(d) Fall of Bairam Khan

X 89 e

@ ® e O
S T 18 o
(BY a5 LR, 2
(@) .1 el @i 4
D) 3 4 2 1

(E) Answer not known

QuT(BS5SIS :

(a) leflwinenal QISSD | ' 1. &.9.1563

() yafist vwar auflow @EISSD 2. &.9. 1564

(c) Gunié Gmasﬁa;msrr S| lq GILDSHETTE 3. 4.9. 1562
oIS BEEND RPSSD

(@) @urd srar SpEd 4. £.9.1560

@ GO © @
Ay 2 1
BN 1
oput a0
M 3 4
(B) efen Qaflueidand

3 4
3 2
3 4
2 il

)
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173. Match the following :

(a)

(b) .

(©)
(d)

Gwalior Fort s
Shahjahanabad 2.
The Jama Masjid 3.
The Purana Quila 4.

@ 0 @© @

y& 2 1 4

(C) 1 3 4

3
® 1- 2.3 4
9
3

(D) 1 2 4
(E) Answer not known

Sleeumeuarelpann QUmmESIS :

() @auredwur Csrie 1.
(b)  egrgmsmearnLTs . \
(€) gvwr ved 3.
(d) yorewrr @uleor 4.

@ ® © @
@ 2 1 4 3
B 1 2 3 4
©) 1 3 4 2
D) 1 2 4 3
(E)  oflen @g,rﬂmaﬂebmeg

CCSE1P/2024

Shah Jahan
Mansingh Tomar
Shershah Suri
Babur

QTSR &HITEHT
WITeird iy Gg;mbr’r
dagragr @l

LITLIT
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174.

175.

type of Indus pottery is the earliest example of its kind in the ancient

world
(8 Tnciged: 1, & Glazed
(C) Knobbed (D) Perforated

(E) Answer not known

o g eumsBeorer Apgeoleef  wlumd@n b LT 2 _qodlebr
peaens stanGorlh pgldTeaTgl '

(A) QeulLuiiL (B) uwerueriivimer

©) siPoue (D) sevem@LinC L

(E) oflenc @g,rﬂu.u@ﬁ]ebamm)l

Which of the following statements about the Harappan Civilisation is
not correct?

(A) P1pa1 and Acacia trees were regarded as celestial plants

- (B) Terracotta female figures are considered to be representatmn of

mother goddess

The people of Harappan Civilisation never dlsposed of their dead
by the method of cremation

(D) Indus people worshipped the prototype of siva

(E) Answer not known

1Qemeu (HeueTeuh DI 6T @ FLIum Brafsn GHss Seupmer gaphml 615l ?
(A) &I OIPLD S16Casadlwr Lrapd q@ﬂg, LOION&S &(RGSLILL L6
(B) saflnem Quek 2 (HeumkseT Gluie Qsicutseflen ATHHSSsiauTs SHSILLL

©) eppuur prefesded @Qpps 2L dswars  HEETD Qelud (e
Qe pmeilerane

D) Heualer 2d apasms aifiuL e
(E) e Qsfwefdama
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176. The power of Judicial Review relates to

(A) Advising the President on Constitutional matters

VJ{B')' Declaring laws of Parliament unconstitutional that are against

Constitution
(C) Reviewing the organisation of J udiciary
(D) Preparing law to preserve the rule of law

(E) Answer not known

ﬁ'é,]uqsﬁqrru'_rm DFSTTD @) sa 6 QgL L IgmELd

A) @mﬁmmmqu smiihs  eleusmyhisafd GYUTHRE SODUBSE Mlajany
GULDBIHG6D

(B) agﬁmma;)mulﬁlﬁ)@ %Tg%]l]ﬁﬁtﬂ BIL_M@E@BLoeN)  sal LhiseT yfueaoridngs
(pranTiaieney erar iblellgse

(©) £ sleopuQer siewiiGanar Srmile) Qewigea

D) sLsder ey Aavws LITEIST&EGD sl_miFmer Qanem( cumse

(B)  efler Qsfwefdrena
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177. Find the incorrect pairs in the following :

(1) ICT —  Information and Communication Technology |
(2) NJDG - National Judicial Data Governance

(3) CIS — Case Information Software

(4) ADR —  Alternate Dispute Redressal

(A) (1) and (3) only (B) (2) and (3) only

W& (2) and (4) only (D) (4) and (1) only
(E) Answer not known ‘ s

SLpseit_euDHIET, seumren A eemrani SeTLHIS :

(1) ICT —  seeud Ggmiy GgmiipEILLD

(2) NJDG - GCsdu pfsgeop g,ly@_i BlreuTsLd

(3 CIS —  aupsE BHaID CarbummeT

(4) ADR —  seITUEEREETET LTHHS Sie

@ 1) wppd @) oo (B) (@) wppt> (3) wLoid
©) () wpgid (4) wLGD D) (4) wopgudp (1) LD

(E) oo GasMNwueilerepa

178. The list system of the distribution of Legislative powers originated in India by
(A) Minto-Morley Act, 1909
& Montagu-Chelmsford Act, 1919
(C) Government of India Act, 1935
- (D) The India’s Independent Act, 1947

" (E) Answer not known
i s Buboibd Sfsryhismer LETEgeTULSHETET Ll iguled SieniiL] (perp
@bs s LSHOGHS - (BaTHS]

(A BeGur-iwmied] ﬁﬁﬁ@gg& gL, 1909
(B)  wranGLg-QsnavGunins &b, 1919 .
' (C) @pdu Sipemhas s, 1935
D) @pdu sspdre b, 1947
(E) &lenL. Qpflwsiidene
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179. Find out the incorrect articles on the disqualification of State Legislative

members. -
(1) Article 189
(i1) Article 190
(1) Article 191
(iv) Article 192
(A), (1) and @ii) (B) (i1) and (1i1)
(1) only (D) (i) only
(E) Answer not known
wmile el arp 2 mifenisailer s@E8 @wiiy Cgm_furar geuprer sli o milianL
SetorL_fla.
(1) sm 189
(1)  eam 190
(i) eam 191
(1v) sam 192
A) @) wogup (i) (B) (1) wpmio (1ii)
©) @) ormn (D) (i1) wr @b
(E) ol QsfweQdama
180. Choose the correct matches among the following on State Legislature.
(1)  Abolition or creation of — Article 169
legislative councils in States
(2) Duration of State Legislatures  —~  Article 172
(3) Special Address by the Governor — Article 174
(4) Assent to bills — Article 176
) (1) and (2) only (B) (1) and (3) only
(C) (2) and (3) only (D) (1), (2) and (3) only
(E) Answer not known
wrbler s wemmib Qs turer Spésam Genemsafld sflwmareunhsom GsbEswH.
(1) wrflotsaia Cuoaameasamar B&@ged — omiiy 169
BRG] 2 (HEUTEESHeD
(2)  wrle s vaprisaier LselsaTon — o miiy 172
(3)  yempher Ancieany — omuy 174
(4)  wCagTEsERsE @I SD — ooy 176
(A) (1) wopgid (2) v Fw (B) (1) wogit (8) wi@uw
(©) (2 wppid (3) wGuy (D) (1), ) wppi> (3) e Gid
(E)  eler Qafuicidvema
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181. Assertion [A] : Attorney - General of India has the previlege of
addressing both the houses of Parliament.

Reason [R] . Attorney - General enjoys the same previleges and
immunities as the members of Parliament. -

(A) [A] is true but [R] is false -
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C), [A] is false, but [R] 1s true
\ﬂﬂ{ Both [A] and [R] are true, but [R] is not the correct explanation
of [A] :
(E) Answer not known

ampm [A] . prn@poapsder @ Simeseigid e enmwrhmid
‘ ' Apriyflens @BEHL s@e@®L APSSOTEGHES 2-aTh.
aryentid [R], . priteswe e oferrsamer CurearGp @pdlu  seaeo
QUPSEETER(HD FDUIL] FQIENSHENETULD essallLLgmenu|ib
Q& eremmT.

(A)  sapm [A] &, sparmed smyerd [R] seup

B) mpm [A] wopw smars [R] @reér@o el wppid  sryamd [R]
ampn [Alefer eflumer elatésid

(C)  enpm [A] seum, peme smyemd [R] s |

D) empy [A]l wppd smewd [R] Grerdw sfl; perrd smawnd  [R]
ampn [Aleden eflumer efleréaLode ‘ '

(B) oo GsMlweiicrena

182. Equal Justice and free legal aid to the poor are guaranteed under

(A) Article 39 J# Article 39 A
(C) Article 43 A (D) Article 21
(E) Answer not known

FNPHEHEG ~ FO g8 wpmib Geeus  FLL o gall Qs @GDL'D

2 S&lreurglLbSsLLLBeTeTg)
A)  erfuemouy a8 39  B) enflueoniy «d 39 A
(C) wdwaamoly afd 43 A D) erdwaamoily alf 21

(E) ofenL Asfweilcrene
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183. Consider the foﬂowing statements on Right Against Exploitation and

find out the correct statement.

@
(i)
(111)
(iv)
(A)
(B)
N1
D)
(E)

Protection of Langliage, script and culture of minorities
Prohibition of Traffic in human bging

Protection of life |

Prohibition of employment of children in factories

(1) ‘and (11) only correct
(1) and (iii) only correct
(11) and (iv) only correct
(iv) only correct

Answer not known

SpseTaEDd HFTETL@I6S, adyrar o fen uPBlL ursfukismer seaf sfwrer

UGS RIS@ET SaRrL_Ms.

() ewss eugeud wHmDd AmLnarewbuleniiar sersFmyb Lb@gum Qumfsamer
LTSI HTE S 6D
(1) spem s gp@e sGE5D
(1i1)  2.09F eurpeusperar LmgsTIIL
1v) Osrfibsreessid Gyhes Asmfenarisamar BB1ESH6
(A) () wppib (i) WLED &M
B) () womb (i) wrGw A
(C) (1) wpmid (V) wL_ED &
D) @1v) v @b &M
(B)  &ler QsAueildana
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184. Consider the following statements.
(1) Preamble is a part of the Constitution
(ii) Preamble can be amended

(iii) The provisions of the preamble are not enforceable in courts of law
(iv) The preamble is a source of power

~ Choose the correct answer : i
(1), (1) and (iii) are correct (B) - (3), (ii) and (iv) are correct
(C) (i), (iil) and (iv) are correct (D) (i) and (i1) are correct
(E) Answer not known
Sipsam auTSEHUBIEMET Salallsse !

@)  wseer @pHu sirsmwiifer @m UGH GO

() psayer HHssULLMD

(i) syl snpULl kBEGSD FHUTHSET B8 wenphser apab CeLdLBES
@Rws ' ~

iv) psay@rGu 2EsTESar apapd ASTTLPD BGD

gflumer eflen_enws @g,ﬁ;,@lg@ésasmm

@A) @), () wpgo (i) of B) @), () oppe (V) of

(C) (i), (iii) wpmp (iv) &f (D) @) whmid (1) &fl

(E) Qe GgMueidea

'185. The following scheme is implemented with an objective of reducing
maternal and neo-natal mortality by promoting institutional delivery
‘amongst the poor pregnant women? . :

(A) Pradhan Mantri Swasthya Suraksha Yojana
(B). National Urban Health Mission
Janani Suraksha Yojana
(D) Swachh Bharat Mission
(E) Answer not known
Qeveugsd S Lmiselledy aenyp  arlail Guarsefan_Cu  Bpeier FHwmen
Greages eas@elsg <isam cpab smU  BOHID Gpbs Gpbes Gl
G@p&GDL Crréssg e AeudubSng?
(A)  Gygrer wHA dveuavBiu sregr GuirgarT
- (B) Gsflw psityp ss1aMy S LD
(C) sgenafl syasgr Guimgerr
(D)  ssrgry @BHUT GUESLD
(E) efevr Gsfweildamae
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186. Match the following :

(a) PM eVidya
(b) PM Poshan Shakti Nirman

(¢) Vidyanjali 2.0

(d) SAFAL

@ O © @
Aay 1 2 3
(B) 4 3 2
Vb 3 4 2
@ 2 3 1
(E) Answer not known

e e TN

e heuaTalhenmil GLTmess :
(8) PM esfgwnr

(b) PM Gunagmen s58 Hiwen
()  eNswungpsed 2.0
(d) soua@

@ O © @

@y ‘1" 2. 'g 4
B 4 38 2 1
@ -~ 4 é i
@) 2 -804 4

(E) el Qsflwedcdrana

114

Testing core concepts,
application based questions,
higher order thinking
Volunteers to contribute assets /
materials / equipments to
schools ‘

Digital education to coherent
multi-mode access to education
Provision of supplementary
nutrition at School

‘ Cergamer gLl &FSEIGEET,

vwerLir( smfibg Caerelladr, o wiir
aufleng Hpsenen

SETEITTELETSHET, LIETe &6 @,
Clenggisser/CumupL a6/

2 Ligrenhiger GUiremeldHenn
GamHiLgy

qell L &b Se el ullatr aumuilenras
LIGN(p& (LpenD &edell el &se
LeTanlufled sn(Bige oo’ L Fesams
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187. Which among the following was announced in Union Budget 2022-23,

188.

with regard to crop assessment, digitisation of land records and spraying
of insecticides and nutrients?

(4) PM eVidya - (B) PM Sampada
(C) Rashtriya Krishi Vikas Yojana @{ Kisan Drones
(E) Answer not known

Qenaupeuameuppier LA wHUSEH, Ho peuemhismer GEGILLD DULTESSD,
Lefls Qarodsdar Osefgsd whHmb ool Lsssgsae pdluime @Hss LW

UL Qg 2022-23-0 siflefldsiiLiL e g2

(A) ' Q.. @efswm (B) 9.erb. sbugm
(C) e Aw Hfey darev Gurgeanr (D) ferer CGrrensdr
(E) eflenL Qg;rﬂu.n@ﬁ]@bmeu '

“Kissan Rath” a friendly Mobile App is launched for
(@  Locate the Mandi

(ii) Transporting agro-products

(iii) e-trading |

(A) @ only » . (B) (i) and (i) only
(C) () and (iii) only | & (ii) only

(E) Answer not known

“Sevrer 15 erenp Gewabl @gﬁ)’asrrsu LJUJGBTIJ'@élngJ
@)  ehengews seaTHliu

(1)  Geuvenmadr QummLaer Gu TéGeUIEHDG

(i) @Qeeww anfl euarflabd

@A) @ oreo et (B) (i) wpmud (iii) wi Gid

(C) (1) wpmid (111) L Gib (D) 1) wE
(E) oflenr. GgMweiidana
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189. Consider the following statement about GST :

1
(2)

&),
O

(E

Both Central and State taxes will be collected at the point of sale

The Central and State GST will be charged on the manufacturing
cost

Which of the above statements are correct?

Only (1) (B) Only (2)
Both (1) and (2) (D) None
Answer not known

GST updlu Epssar ssauwseiad smsdd Qamdrs :

(1)
2)

@A)
©)
()

ellpriener (penamuiled wEHW wrfle Bijeser cuEd Qeliag)
wgdw, wrfle GST 2 pLsdH papule HsstLG g
Gupsear.. spm&seia erg Fhumerg ?

(1) e i . (B)=2)%ior(Hip

(1)-b (2)-b (@remHitd) (D) ermieyG @aame
e Ggflwiebidamen '

190. The Effect of deficit financing is

(B)
()
D)

()

Increase in money supply
decrease in prices
Increase in unemployment
Increase in interest rates
Answer not known

Ubpré@ann HEurssssen ellenemey eremiig

A)
(B)
©)
(D)
(E)

e ety eisfiy

cHlenseT GsnmaHea

Geuenarullsianio iHlaMLL
el lg 6IsD 2 uimSeD
aflen Ggflweldana

CCSE1P/2024 116 g o

Click here to Visit >> www.govtjobsnet.com




191. Some of the indices launched by NITI Aayog are

(1) Composité Water Management Index

(1) School Education Quality Index

(1)) Urban Development Index

(A) () only- ' (B) (1) and (111) only
S (@ and (i) only ‘(D) (@) and (iii) only

(E) Answer not known

(1)
(1)
(i)
(A)
(O
(E)

NITI =Cuné eiflsiufsdu do RSO oma

gt @ Bir Cuerareaw @hluik

‘werel sell g5 @HUIE

B&TLD eueTiEsl GHuiH

1) wr_ @b (B) (ii) wpmid (111) b GHid

() wppd () v eo @) () wogd () wCEw

aflan Ggflweferena

192. In the study conducted by Dandekar and Rath regarding poverty line,
which of the following statement is true?

| \M 40 percent rural and 50 percent urban

B)
©
(D)

30 percent rural and 40 percent urban
40 percent rural and 30 percent urban

50 percent rural and 40 percent urban

(E) Answer not known

srarGLar wHpb Trs GHUEQDL eapews Garh ey, Spsar_euppier el

ghlwmeng 2.

(A) 40 &g,eﬁgtb Symob wHmIb 50 FF6ish FSTD
(B) 30 ss6isb Symobd mﬁJQJLb 40 ggaisb ST
(C) 40 sz6igb Symiod LHMD 30 &56IHL BHILD
(D) 50 sz6isb Symon LHPID 40 E5SHD HETD
(E) eflen Qafiweiideme
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193. was the first Muslim leader to demand for Pakistan in 1933.

(A). Maulana Azad (B) Muhammed Ali Jinnah
(C) Sayyid Ahamed ) Rehmat Ali
(E) Answer not known .

1933 b yamge urdlevsrayssrar Camfseans BSs (s pevaid sameaaeu

<ZLEUITIT. .
(A)  Guearerenm <pEs (B) wswg ol semant
(C) @sws <iswg (D) Qrapws e

(E) o&fer Gsfueidame

194. Read the following passage and answer which event or movement is
mentioned here :

“It left a profound impact on the political history of India. From a
political angle the measure accentuated Hindu-Muslim differences in the
region. By giving -Muslims a separate territorial identity and a
communal electorate the British government in a subtle manner tried to
neutralise the possibility of major Muslim participation in the “Indian
National Congress”.

v@() - Partition of Bengal (B) Non Co-operation Movement
(C) Partition of India (D) Poona Pact
(E) Answer not known

aratpd LsHerwils Ligds ohBS BHlepe) Sideog @uésé;n.b GOUEL UL Rererg
erasTml LSed srayi.

‘Do @bswu eiwdlud wrerhiled <o sréssms ghIBsSHUIE. @ ATdud
Geramgdledr @bs BLeugsms IUGHED @bs — @pevedd GeumitimHsEemer
auellymssluig. evadibsErdd @@ GBS S@Lwnasmsuld euGLUITS
GUTESTETISEETIID GUPEIGEUSET epeld Al ig6ly SFFThsD L Uwbmrer (panpuded

@rgw  Gzélu  smadlraller  evdlid  wEGaspiGar  sTgHusns wPDlLLES

QPuHaSsE
(A)  amsreru9feoman (B) asgempuren Gussh
(O) @sdwun Yfelener D) laberrfn RUILIGSLD

(E) el Qsflweldena
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195. Reason and Assertion'type :

Assertion [A] : Mahatma Gandhi suspended the Non-Cooperation

movement in 1922 due to Chauri Chaura Incident

Reason [R] :  Subhash Chandra Bose and some other leaders

- (B
(©)
(D)

(E)

opposed the idea of Non-Violent struggle

[A] 1s true [R] is false
Both [A] and [R] are true and [R] is the correct explanation of [A]

[A is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A] ' |

Answer not known

SMrenrd WHHD oy :

smpm [Al, 1 1922- wsron smpd safl sapr Hapeird gsmepuran

Qusssang Hloisderi.

sryemd [R] @ asurdy sxdrGumey  wppd fe  soeaisdr  aaTp@pWOHD

(8)
(B)

(©)
()

(E)

GurprlLib eTaD S&(BSaMS eTHTSHe.
[A] &fi [R] seum

[A] wpg [R] @ryeﬁm@ﬂn gfl wppb [R] eerug [Al-leiew sflwrer

efleTé &b
[A] seum [R] &M

[A]l wogw [R] @reno &f, gemd [R] — [Al-dgeLw  sfumar

eSlenEELA

ellanL Gg;rﬂu.uaﬁ]@smm :
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196. Which of the following statements are true about Mahatma Gandhi?

(@)

(i)
(iii)
(iv)

&)
(©)
(D)
(E)

Khadi is the symbol of the economic programme of Gandhi
Gandhi started peasant movement in North Bihar
Gandhi wrote about ‘Quit India’ in New India

Gandhi’s Satyagraha Movement was against Indian National

Congress

@) and (iv) only
(i) and (ii) only

(ii), (iii) and (iv) only
(i) and (iii) only

Answer not known

Wereupaiaraupmer warswr arbdlowt upflu sflunas ssppseT el ?

1) smpHulier Qurgenngiy S sden eﬂeirrc;'mb &nd)

1)  arsE Jerfo alarsnisale Qusssams arpd Ggmiridert

(i) Ay @pHurede siss AEE e QauafCGum Lbd erapfarmi
(iv) smpHuller ssHwundlys ussd QoHu Csdlw strdyedpe erdyreng
(&) () wpp (iv) v o '

B) () wpgd () 0 Gd

€) @), (i) wppb AV) LLED

D) @ wpmo (1) we b

(E) e Qsflwelicrena
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197. Choose the right matches among type

e

(2)
(3
o
(A)

V&

©
D)

(E)

Rajaji
Subramania Siva
Bharathiyar
V.0.C.

(3) and (4)

(1), (2) and (4)
@), (3) and (4)
(1), (3) and (4)

Answer not known

Sakravarthi Thirumagal

Prabanchamitran

Kadavul Oruvare

Meiyyarivu

eflwurs Qurmbdwaaraupern Caiea) Qs :

(1)
@
3
4
&)
®
©)
)
(E)

Qrrgre
sUlrwentlu Heur
urrlj'@urrr'r

al.o_ 8

(3) wpgid (4)
1), () wpgi> (4)
2), ) wpgid (4)

(1), (3) wppid (4)

aflenL Gzflweierana

FETEUMSH S(HLOSET
Arugsedsdier
sLe e ep(meuGry

Qe
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198. Who remarked, about Rani Lakshmi Bai as “Here lay the women who
~ was the only man among the rebels”, during the Revolt of 18577 '

General Hugh Rose (B) John Lawrence
(C) Colonel Smyth (D) Colonel Wheeler
(E) Answer not known :

1857 yp Aufen Gurg) grenfl sl Lmn upHl “Sarréflunartseia @Gy yarrs
@mpe Quar @uGs dLssiul () @maSnmi” eremm wmit GOl mr?

(A)  QOgerged aubluy Crme (B) syrem avmyenei
(C)  arened euifls (D) sreaed aevit:
(E) e Gsflweldana -

199. Which of the following statements are true about 1857 Revolt?

(1) Even before the out break of the Revolt Mangal Pandey had
“become a martyr
(2)- At Kanpur the revolt was led by Zeenat Mahal
(3) Kunwar Singh was the Chief Organiser of the revolt in Bihar
(4) Rani Lakshmi Bai died while fighting on 17 June 1859
(A) (1) only ‘ (B) (4) and (2) only
- (1) and (3) only D) (2) and (3) only
(E) Answer not known

1857 — fleri&d) LHOIL S gapmselic eTg 2 @renn?

(1) Serired Qaugliugn@ penGu whisd LraTGL @nhg Hwrdwrg afll T
(2)  sraryfd edars wanTd samoennuia &erisd bLbHes

(3) sameur A Serfled pLBS Sariéfleny gavaeawGuDm BL -GSt

(4)  @urenll QeveyBlumi 1859 eear 17 ey Gumiled @opgmit

A (1) oipo (B) (4) wpgud (2) wLED

©) @) wpgi> (3) wwd (D) (2) wpp> (3) 1-GD

(B) oflen QsMweicvene ' '
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200. Match the following :

List—1I : List —II
(Author) _ (Works)
(2) Bankimchandra - 1. Shatranj Ke Khilari
() Dinabandhu Mitra 2.  Devi Chaudharani
(c) Premchand 3. 'Nil Darpan
(@) ® (©
(AT 2, = 3
B 3 s 2
N7 R |
D) 3 2.
(E) Answer not known
QUIBSHS :
Ll igued — I L}L'_L;:'_ILJG'U -1I
(@rsu‘rrélrﬂu_:r‘r) : (usnLL1L&6T)
(@) umdbepdym ' 1. #7656 Cs Heomfl
(b) Berutg WOSmT 2. Ggel Gsergmyman '
(C) 9CTbebs 3. e siruen |
@ (N ©
A 2 1 3
B) 3 1 2
(C) 2 3 1
D) 3, 2 1
(E) dlen Gsfluefoeame
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